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ot
op O i i
—t— +—— +— S 0iiieesiiienaasinns 2.6b
v ax(pu) 5y(w) ﬁz(m) (2.6b)
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LV’

= :
ey (4.3)

ol &lls g .(4.3) @sleod) ooVl Cilsdl (59 4 Jolsoll gai g1l yas Ol (sl s aws] (s
Lo Lpsiousd &, Usles g1l elli (o8 F doud

k/ds Re ¥V FSi>Vl Joloo sasi dsac aosld @ (2) (eloll
F aoud ol @Vl auolyl oMl plasiwl - b wsbwls — oSy s
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v laadl ULl (1)

. &,ml @ity Uk dalziwe @sleoll 0idg

Pl Oluud) Culy = JgpuleS Aslao (©)

R Fao 251
\/f_ = O.86ln(3.7 + Re\/f_] ......................................... (4.5)

sleoll suils oo JS (58 5ol £ 0l e el dieill dlasMo oSy

ladl VUl Swlgaw @sleo (2)

1.32
f = 2 e (4.6)

2
(0275 1 374
d Re”
olS 15 2% jelses V Lpud Unsdl @iy culy - Jg,dgS @sles oo lolaziwl Jpwl wswlow @sleo
bg.\.x” X Re 9 /(/d,o.a.‘)

10°% < k/d < 1072
5x103 < Re < 108

4.1 JLo

. 35°C 8,1,> &>, ¢ 0.1m3/s Jasou slo Ol ,w @b 250mm o,bd S,lil 5Vgall oo gl
. 100m 881 &8luo) bheall (88 Vlaiddly ool 28 28all ;38 (1)

€ 1m e SVl asall oy Vi byl 18] (sdeVl 0wl Jase wsSy pS (o)

(4.3) csew,ls @sleo (1)

L v

h, =f ——

! fd2g
v="1= 0.1 =2.04m /s

49
A %0.252
: 35°C aic sloll yolgs aoild o
v=0.727E-6 m?/s
£ =994.1 kg/m3
Re = vad/v = 700,000

lo Ol ! O sus 13d o
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k/d = 0.045E-3 / 0.25 = 0.00018
(4.6) .,_s\o|9_uu EINEY p|.)..zu.ul.1
f=0.015

100 2.04°
0.252(9.81)

= 1.3mh, =0015

Apr = beall (b olasil
Apr = pghr = 994.1(9.81)1.3 = 12.3kPa

6 ,9.a)] 33 Csowyls @slao 0B 1M G SVl asall a5 Vi bloal (W)

2
10=f 0 _V

=20.39fv>
0.25 2(9.81)

uoidL sl S 9 . S,LSH LolwV zlizy (1) @bsleall J> 0B v ac,uwll (sle £ sloseY &
Oyl pilg8 o Sy 9 eyl pi o 9 ek, sae e ad fasiei Y g0l byso Wy
Jnd &Ml &gz @9,200 @l 0dp) Faowd (sle Jgazdl sSISisV
F=0.0134 oVl LoludVl i e
v=1.91m/s sle Juazo (1) @sleoll b Lavg=ll
F Joleodl g5 3gis; sae Oz silidl cuppaill Jgsadl OVl Soy o

f=0.015 Re =6.6E5,
v=181m/s e Jax (1) @sleall 28 Lasg=ill 9
ac ol Ol 148 iz 9 wpmsiine Guidsind il dic azesidl puss e Juazs EJl il oo
.0.089 m3/s g& ;,Sowdl eVl Ul udl Jaso WL g . 1.81 M/S (b dxuzall

4.2 JU o
250C &,l,=)l @5 aic elodl Jau 200m agbg 78mm slslall o,bd cpoysoll 3Vgall co Lol
Caow .+ 2M laies oVl e il giogall gaiy o> (2) Rosell (sl (1) gogall o 7 15 Jasoy

- (2) gogall aic Sg> heall g ((scl59) 1.0m Sgluw (1) Rogell dic bheall
ol oo @l 8,080 Gl gllaoll
(v =0.897E-6m?/s, p = 997.1kg/m3 : 250C sic)

b (4.1) @lall &sleo

0 _ 22
P:mg{(zz—zl)+p2 P Vo TV, +hf:|
Jo34 2g
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=1 i A 9/41 wal&;gl_mj

kg/s7.0= pg = (997.1)(7E-3) = nD1
/4.78E-3 = 1.46 m/s0.007v = g/A =
127,000Re = vd/v =
k/d=0.15/78 = 0.0019
f=10.025

v
2g

P = 6.98(9.81)[2.0 +1.0 + 6.88] = 0.68kW

L
=6.88mh, = f —
mh; fd
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o LV (9 ausogoll dgaall 4.2

ss Lo g2 csde 5 .@5lodl Hluwo 28 (&lgelly wlsbizsVl oo aalll alall (sd 28lgall La  sis
r seogoll 284l Caomw @bl (4.1) @sleoll bs Jass sSa>Vl aaall

2 2
P
.......................... (4.7)ﬂ+v—1+z1 +,—:&+V—2+z2 +h, +h,
pg 28 mg P8 28
+ aolall @BMIU 0,85 S M1 ssogell 28l Ol (sde U)lsal Jw
2
\'%
R o (4.8)
2g
Sloell yasy il G pud aog (4.2)JSiadl . du,mdl wilowll eloil oo £95 JSU G sax
a9g)lall
|E| wsul lowo N
Al 180° ggS £590°  (Bonie) S5 plowo
(7qiono)
auslyl 6 il U g% 26 250
auqliJl
4.2 Jsill
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4.3 JU o

pazinod ploall . 10m agbg 150mm o,bd s ksl 3Vgall o AB gVl (4.3) JSeidl (oo

4.3 Jsual

= 0.44mh, =0.016

= [0.5+0.2]

+0.73=0.41+0.73 = 1.14mAz =

a>g3llly 50 I/s Ol Jaze lolos zoian sl plow
0.8E-6m?/s  &ulaxsI

rolws> wglholl

o] (50 sdsJl asell (1)

o9l 55550l lazdl 999 sladl g las,| (o)

ghaally gxsimnll 58 Jiludl ahw e (1) ghaoll Skl
eVl 2,20 2ic (2)
pP1 =p2 = pPa
vi=10
(4.7) adUall @Jsleod g9>,JU
P=0, z1i—-2=4z

\'%
Az_i”’f*hl ................................................. (1)
B+ P = ool b Sl azall
LV
77 d g
p =22 005 s
A 00177

Re = vd/v = 0.53E6

(ilo Vlyuw)

k/d = 0.045 / 150 = 0.0003

f=0.016

10 283
0.15 2(9.81)

2.83° v?
208" V2 _(Zc)g

hr+ b= ol s JSUI aaall (1)
=0.44 + 0.29 = 0.73m

(1) @sleadl . Az (W)

2.83
2(9.81)
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4.4 JU o

5 dzg di loa)bdl 2 91 gVl | er80 0 LoVl ac aio bl doglaio (4.4) JSidl oy
beall .C g B zo,x)l blasg A sd g8 @nis k2 g k1 logud &gzl (sclas,lo L2 9 L logllghl
Lowbian s00 5l - 59> € 5 B puikasl xie

4.4 Jsual

189,20 slodl G4 Ssluw A 2ogell ke Ol Jase OIS 13
291 gucyall (50 Ol waze (1)
A gog0ll 58 Lglhall beall (0)

B oA (ool o @lall dsles (1)

2 2
p_A+V_1:V_1+hfl
pg 28 2g
P (1)
PE
CsA umogoll w9
14
A =Ry e 2)
P8
iy g
By =Ry g ceeeeeseescsesssneeen 3)
Esx..wﬂbdé\l.&:pl.l'x&.wb
fﬁ"_lzzf Lyv,
'd2¢ "’d,2g
L d .
v, =V, (—IJL—ZJ L (4)
L2 dl f2

s alsl bha>
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VA
ga=qs +qgc = Z(dlzvl +d,’v,)

V1=

2
da, (),
rd’ \d,

FofioNg 29 Vigwc,udl 08 dlgs Hg i pumeiodl OV U=l 0lidls (5) g (4) uldsleoll
LbLSs J2l =] Jasy dauy pue Jlgs
:ausace wldaso
d; d: k1 k: Li| Lz qa v P
0.1m | 0.2m | 0.04mm | 0.04mm | 100m | 100m | 0.1m3 | 0.9E-6m?2/s | 1000kg/m?3

v,=1.414 /]]%.vl
2

(4) Wsleoll sdas oMl wllagoll plasiwl

v, =1273-4,
18.00
el I
5.66+ [-2

1

9 Hoisy Svae Gl s sy (7) @sleall o vz Gl o V2 dc,ud) @oxd (olyudl sl Soy
9 .(8) @sleol Lo 12 dc,wl) Juadl @oud las oo s oSow 9.2 9 1 GuesM ISVl (sdoleo
sw@égobjdﬁwlwwwwww aJlgioll pusll Sqluwss (su> sl josuw

vi=177m/s, v2=2.74m/s

. gg= 0.014 m3/s, gc= 0.086 m3/s

45

oolbodl sl
sl | vz Vi Re; Re: fi >
1 1.00 8.73 970E+3 | 222E+3 | 0.0166 | 0.0169
2 2.70 1.93 215E+3 | 600E+3 | 0.0182 | 0.0153
3 2.74 1.78 198E+3 | 608E+3 | 0.0184 | 0.0153
4 2.74 1.77 197E+3 | 609E+3 | 0.0184 | 0.0153
5 2.74 1.77

o riind] GugsVl (08 dcuwdl Ol (sl oMel aoslall Jus o

eliug



‘A gog0Jl aic Lglholl heall Clusd (W)
Lewliio yaall Usles g Sg> B sic heall ol @\ g (1) @sleoll dcluo d5lel

Pa _y,

pg '
LvS
_zgmh”:fl—l;

=(1000)(9.81)(2.9)=28.5kPa p,, = pgh,
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o luo

30°C ai)l,> @) bls Uass Jau 250mm csdslal o,bd 8,831 uasdl oo wsddl el s 4.1
A1)l 06 liSl ISim VI s caomad] (s 2iall )38 . 50 1/s Jasoy
[5.1m] .(7.5E-6m?/s aail a>g3) i> 30°C §,|,=Jl &> sic)

40°C 6,1, =l &5 9 lo Jaiu 100m algl ¢ 50mMm 0,k oyl uazdl o sadl Lgsl 4.2
. 1.0 I/s Jasey
Soiy sa2) 2,5l Saoll 59 Ol Of 2os (1)
Lesilas Olyd] OIS 15] SVl 288l ol (L)
yile Olyudl OIS 13] (sSam VI sl ol (2)
[0.3m, 0.5m]

asluwo) 0.25mm aisg g 300 MM 0,8 ool e 30°C @,l,> &>)5 cuwonS duo sy 4.3
& glhnoll 8,08l 538 gVl 2,09 S0 sic Sgluwio beall Jlicl Sou . 0.1M3/s Jases 1500m

( 2E-6M?/s ai>g3J9 800Kg/M3 (pumwg Sl @8LS 15 30°C dic ) .axaoll (o
[ 8.2 kW]

oo £Und 120 58 heall cuow uad . 15mm o,bd acl (sidl Lgol 08 Silw Syuy 4.4
SJLicl Sg =l g all Tglue 2, =eoll auc g (Sl o 12m J LislSo s>g  50m adgb LoV
coswzxsdl ULl Jago cowsl 1E-6m2/s Sglus auilowSIl g3l

[0.3 I/s]
13l oloy Sl sdgall (538 alazo dey il sy @sls obsl wlibasoll 4.5
400mm wooVl ,hnd
imm WVl bl &g glas)l bhwgio
13km ooVl Jgb
130 I/s Ol | Jaso
26m elas,Vl 3,9
-4.0m &aoll dueo beall Goow
20m weVl 2,50 dic beall Cuoow
feow>] 0.9E-6m?%/s dslowsSll aixsz) 9 1000kg/m? slodl @8LiS ol Lol 580
SVl ssall coow (1)
dzenol) ISl cooudl ()
eanll o sloll lowiSy il 8,08l (2)
[44.9m, 52.4m, 66.9kW] gl 28 lgall Jals oSy
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el (sle aul=a gai . olxl hall JSWI bhsdl o iyl £33l Caoo 9 pudzed ol Jos 4.6
Shall Loyss 1400km usdgadl o @8lawll . 930m glas)l (sde oo g el pdow (3¢9 400m
9 860kg/m3 laail &3LS ¢ 0.35m3/s alase Ul g (sugigs Wbl Ol LoLL . 0.7m Lol sdzlul
rwsl 50E-6M gVl dguins gles)| bwgio g 20E-6M?2/S asg3)

SISV aaa)l oo )

wellhall (ISl cosdl (©)

Auslboll &Sl gall 8,08 (2)
[1962m, 2492m, 7.4MW] gl 28 lgall Jalss ,Soy
a8 Sy 0.7m sdslul o,kndg 0.35m Saueall 0,h8 Jghll juad dyol3l 6 il el 4.7
1000kg/m3 sloJl &3S ,lucl . 5.0kPa Sxeall wilsdl (9 sloll oo . 0.3m3/s Jaze sloll
Ao sd8ladl Colsdl (8 el o g il cooan comud] (59 28]l o]

[0.28m, 6.8 kPa]

oy 89y paiiwi G Anghio (4.5) JSill oy 4.8
0.1mm aig xixsg 100m  alglbg 50mMmm o, ks gl ,uc
aS,=l ali>g3) 9 870 kg/m3 w3l &8LS . 5 Ifs Jozoy
. 0.008 Pa.s
zeanll o @glholl 8,08l wowsl (1)
Jols aic Al (b Unsell asioll aidl cows (0)
[1.35kw, 1.3%] u2o90Jl 18lgall

4.5 Jsuiudl

1(2) 9 (1) ouerts bl Aoghin oo sl bo By2i 4.9
d: =200mm, d2 = 100mm
ki = ko = 0.2mm
Li = L2 =15m
100 I/sg,adl adass die Obyuad) (NSl Jamall LIS giie 8,5 95 plow (2) eVl zixe sic
8.5 E-7m?/s Jilud) asloasl 93Ul (sgluwig
om0Vl (28 Ol wdl Jage cows )
ploall azgil 15] Obpudl Jiago sl (©)
[92.31/s; 7.7 I/s; 86.2 |/s ; 13.8 |/s]

48



Sl Ol e gilgoldl Bulsao 5

uwlbwdl adsleoll 5.1

&loll yolic (oo duwidl 85,2l Ol ,Lacl USon UsSy boasic g5lgall LSwlSun LI 13 (sbas
b g,lusy 9 3a>l9 3a>9S ilodl &S,> Jouin oS &ilgodl UgSiuw Wy o ellS Joing .aogiso
Olyw e 2ol jlasell Of (s el W5V 0L (2.12) sl oVl ks> @slee (] ,haills

. [l].pv__déz() i sall Sobuw pS=dl adaw yuc shbhoVl
A
L o=—pn s>Vl dlaxs pwaid aall Ssluy caill se=Vl ol les

(2.12) @sleodl prass 0Uyudl ablemi\u Lolsl Lolu8Vl iy

1S Goav + [ pokav +1Jf puaa o

ov
6_128—_ td o g, axiod 50,Jlg
t

[]j” padV +[|j[j pgkdV +gijdA =0
14 \%4 A
P adodl - aceludl &)l plazeowl 9

[leldA =[[ﬂ VpdV
A 14

SybsYl @slee i
[ [pa+pgk+vplv =0

1%

0 JolSal asuiig oS,Lasl VeS| px> 0l Losg

PA+PZKk AVD =0 e (5.1)
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&by Jyxii augl> 9 il asldl NVl Jlxo o9 ball gij9i 5.2

(W] ¥

xz blodl Llaall . &-¢ oSludl bliol dwidl @ ol g,lui Jymi dugl> aS,> b )

2Slual| blwoll

.S =il @9l sle s

<ol g, badl O Loy

ak 2
i |
\ wl=  a =¢ el woli= a =& ol
(5.1) @sleall 9 Lasgelly
2 pla,i+ak+gk)+Li+ Ly —o
o5~ o¢
—> x
op op
azxiol| blioll , ——=—pla. +g) —=—pa
o pla, g)85 pa,
&= coldl blal acusll oMel uldsleall cualziwl
t sVl sy x-z &y =ioll bliol) loglig=sd
5.1 JSiadl

fzaxt%rcl
c=0 t=0xc 0=ac,wll,luck
fz%axt2+c2
G =x &S, =l e e olalhiy Gubliodl Ol licl o

E=x+lar’

Joleodlg
=z +3ar’
al=ala_§=al=—pax ............................... (5.23)
ox o0&ox o0&
dp _Jdp L _Ip
—_—— = = = — A I 5.2b
ol A p(g+a,) (5.2b)
(5.2a) alolSoy o
p=-paxx+1fz)
ap
= frz)X
@ 07
e (5.2b)
f(z) = -p(g +a:)
f=-p(g +az)z +c
P=-PaxX-pP(G +8z)Z+ Creverereserrescrirescrinannn (5.3)

3932l pusdl o € el @oud saxig . heall g5 Asles a9
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Filwd pdoow Wsleo
ool g, gl Loy s 50 Wilog lowdiwo Tgins 0gSs J5ludl adaw Ol (sJl &yl Jo
.(5.3) @sleall s skl Jd=il ade Juy bo b swais
pP=ps , Z=12s
. Iladl aw dic Z808 2 9 Sexdl bheall pr cu>

Pa = -paxx - p(g +az)zs + C

5.1 JLU o

b 5Ly g 850 kg/m? asslis Lys Sg- dpsl>
a9l Jg b . 5.2 JSil - w>gall X oLzl sd 2.0m/s?

el Bg 8 2.0m w3l SSgio suisl Ol a>g ) . 3.0m

walziwl

Joenll &)595 @sles (1)
5.2Jsl sl sle e (sdel goges Hlabo ()
o a9l59 w3l adow dslso (2)

(0

ax = 2.0m/s?, a-= 0, p = 850 kg/m3
s (5.3) asleoll

p = -850(2.0)x — 850(9.81)z +c1 = -1700 x — 8340 z + c1
777¢t =21 x=3, zz=2, p=0 a>9a=ll aoysll
D henll 8,595 @sleo
p=(21.8-17x—-8234z) 1000

X=0, z=0 : deVl henll goge s heall 8395 @sles (W)
21.8 k Pa = haall liio (slcl
Zs Jiludl adaw sdosi (5.4) absleoll (2)
aslendl ol aoyd Ll

Zs=-(2/9.81)x +c:=-02x+¢C
=26 Zs=2 «X=3 e

Zs=2.6-0.2x

6=-11.3°. ctanf=-0.2 .-0.2 gl Juo
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wSlbw Jlw o9 boall g9 5.3

asleoll guaid .,aall Ssluw (5.1) @sleoll 0 @ &,lwil Ol usy Jiladl wsSiw
P8k +Vp=0
pek+ P i s P Py g
ox dy = 0z
Y ol X sde smiszi ¥ p ol sus lidg
op
"
sl slaell olsVl (50 Lirgo WSy csowlJl jaxoll 9o Z
B éoud 0ls elling . Jlwdl adaw sic a8 LoVl dhsig 2 slaodl olxsVl (58 Lixgo £ 2zl S)sig
WL 9 . sesdl (a2

-pg

dh = -dz
dp

Eng

p =pgh + C
C = pa adowdl duic So> henll jluclg

5.2 JLGo

S Sy oy oo pwlasl (sbis; bleno paziaw

_ . 13.6 9 0.85 (553 9 sl awwid! @LSUl ol
s 538500l bl (88 cswlisioll baeall 08 ()

15 oW 555 ,0)l lazell (s sllaall beall )35 (@)

0.75m yiog,WJI 8¢l,8 wulS

9 By all Ug Sy pS silo bleas paziwl 15| (2)

¢ sbleaoll Sl olelss)|

100mm

5.3 Jswil

(2) gogall xic baall = (1) gogell aic lsall

sl dis (55) aslal plsaal

po + 0.07 pog = pa + 0.1pmg

po+ 0.07(0.85E3)9.81 = ps + 0.1(13.6E3)9.81
po = 12.8E3 + pa
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12.8 kPa = UVl 55,0 (59 wsowliioll bagall (1)

0.1MPa = 0.75 (13.6E3)9.81 = A6 pm g = S i0g,Ll beall (W)
112.8 kPa =12.8E3 + 100E3 = _slholl henll

wilo bleno plaxiwl xc ()
hwpwg =hmpmg

1E3(9.81)Aw = 13.6E3(9.81)0.1

hw=1.36m.
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sabJl 5.4

5.4 Jsil

Blo 8 LIS of Lss> 8,5020)l ol e (slel (sl Jrosi ool dg-8)l Losb galall 898 855
ousall pSzill pxs (sle Aindno (2.12) shlaoYl ha> @sleo o T 58)l 048 e e LoMiwY
(5.4) Jsoadl (o

iall Olgluy @sleall (o wsildl 9 JgVI ozl

redll sl
JI] Bav =-psv, &

Vi

L @l ! 2=l
= [[o,am + [[o, 4+ a, a4s +[[ o, Adf] o
A A, A3 A4 A

pS=ill p> sle Clall adawdl Ly 58 sl 89l (sdg R JolSidl Sl 1(1) adasdl (sle
pr=ps=0  —lLwlio: (2) ol sl
wasdl o (elid Jsll (Jl Lelen] beeall Josi 1 (3) adondl sde
F(4) el e
o4 = -pans = psk = pg H k

dA+ = pg HA+k= pg( Va +Vs)k ”g4
A4

+ shhoYl dsles (s8 Lavssill
0= -pg Vek+R + pg( Va +Vs) k
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1>

= -pg Vak

Fs sSUall ponzdl (e gl
F8=-R=pgVak
Vi ;9020ll £33l px> Soluw Va

saloll 898 WeSs lliug
F3= PG Vi ooooeoooooooosoeooeooeeeeeeeseoseeeessese (5.6)

5.3 JLG o
=9 808 § 800kg/m3 assliS <y M . 300N L&, aize9 0.9M aclesly 0.6mM o0,k wlall o Juoy
. 1000 kg/m3 asdls <o

sloll (09 alolSy pudagy V Juo ]l O sl )

o 5L 52l L)l cowsl Tos8 Juoydl i 5] (W)

s usledl Als s (1)
Fs=Wa + Wo
el e Wo g €5l Juoydl Uz Wa >
W = 300
Wo = (AH)pog = (/4)(0.6)20.9(0.8E3)9.81 = 1997N
Fo =300 + 1997 = 2297N

ssbll vgilvg
Fo= puwg Vi =1000(9.81)V; = 2297N
Vi = 0.234m3
V = AH = 0.254m3
V>V
Loloi by Y Juo I U]
% = 5l el eyl (@)
— 71mm 0.254 —02.234
z0.6
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GisgynlDNaslsJl yulbio 5.5

Al @8LSIl Gwls) pasiww 5Lp> yiog)amlpll
sehll a,bs (sle Aosouai Jaisyg Jilgaud)

5.5 Jswll W 4V0

siogyalpdl SLaw ,hbs

H adglg d adlw ,bd ying,1ld geogs (5.5) Sl
Vo aaeld (s d cuiodl Jsill pex> W a0
5 il aliS Jilaw (o8 Uiz 9080 sing,nlpl

B Bl oo gesell 52l Jgb

=W
W=pgVi=pwsg(Vo+%dh)

h

=7rgpwd2s d’

Hadoll clodl (88 yi0g,1 L]l UM-E 1]
s=1L,p=pw, h=ho

W v,

hy = -
* rgpd® md’

L s5=1 )iy Sl glas )Vl Ao e
ol adMel Uiy guaig

w1
h=hy+———5 (=1 (5.8)
rgp,d” s

5.4 JU o

S8l o> 5 sion,lpll Gis A1z sllaall 200mM SLul sy 10mm

Bl sosVlaxll A=0 s=1.5 e
Blul) eVl sl A= H=10.2 s=0.5c
i 2,bll g (5.7) @sleoll (58 oMl ppal) pag=ill

P _L(L_Lj
T e p d? 05 15

W ( 11 j
02-0= 5
9.81(1000)(0.01)°{ 0.5 1.5
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W=0.115N .
W=0.116N g /=0 g5=1.5 e (5.7) 8 &b Lan=ll o
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cM=1 xc gp> glo sac ol (e Jwi (11.3.2) dsleadl @
Olain i Oldl ol (59 asluwodl 85b; g0 J& dcodl W6 M < 1 Jb> (8 o
> bl W1 Ol ud) @owidl Il g oS loles césLuoll

v _ v
dA A

lpilass o @sluwll 8503 Tas Lasis dcwll L3 cus> @Ml puSes M>1 Jl> s99 o

&>Luolly beall o @8Mells M= 1 aic Loy 2> 2lo sac ol (sde Juwi (11.3.1) &sleall  »
a>Luolly ac,ull o @Ml juSce (sle logs
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oSl UVsleoll 11.3.3

e y0 blas iz gliss @i )90 09 Sl Olrwl) adolSil wVsleall poMsiwl Jic
T oS wgSiiw 9 wihhusioll
10l pusioll s Josivew 9 (1 =0) @395, &l (s sJoVl auzoll dlniill e
gl (e 7o, po, po: due>y0ll lpod sSi s T, p, p
Aasluall (sl b lpolasiwl yaisiw g . (v =€) asgall dlal (wo aslil duex,oll alaiille

A aues0ll lpiad UsST g

t (4365 ,l) aus>yoll dnsil g dole ahss w (11.1.1) &8lall alsleo (sadais

h+ %V =h
v = 2(hy - h)

(11.1.4) 5 (11.1.8) wVsleoll oo 85kawVL

V2:2Cp (TO—T):Zk—R(TO—T):zk_RT (&_1)

k-1 k-1 \r
2 — 2 E 1
k—1\T
£=[1+i(k —1)M2]_1 ....................................... (11.3.3)
T, :
H )= 9
p=1+1(k —1)M">
T -
D ™ oo sssser e s e 11.3.3
T, H (. )

T .
L= ("
Po T,
(11.3.5) @slaall (58 Lavgeill o
e (11.3.4)
Po
(11.1.9) &sleal oo 83kl o
P _ (ﬂ)k
Po Py

(11.3.4) o wavg=idl 9
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L B (11.3.5)

ALl has alsles oo 1w dxluall aulolSl a8Mall oMY

A _py,
A v

Ol ] (58 a0 g0 (1) giogall >

A _pMe, _pMJkRT, _pM T M, () [T,
A, pMc  pMNKRT  pMT M\ 2 N\
(11.3.5) 9 (11.3.3) ©Vsleall o Lavssill o
i_%(ﬁ]“’”
A My
> isall ghioll ¢a ( 1) ghsall Uyucl 15] o
M=1.0, A1 = A"
w1 = 14+ 5(k-1)(1) = Yo(k+1)
asleodl puai 9
A 1 (2u YT
e (11.3.6)
AT M\ k+1
1.0
T, T A/A*
P/ Po E /o
p/po E
_________________ _: e oo N(---N\-----]1.0
0.5 1.(I) 2.0

w9 &s)lell oz 9 Al

11.3.2Jsal

aLolSul wVsleoll @il sl lusio ouw (11.3.2) JS_all

k=14 aie Sl Ol 8,55 il GVslaadl o daliwe pilsd (8) loll
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11.3.1 Jlwo
Lo gogo aic byl ays . 1.25 jlall ducgill 8l s &> Lunall yuio Syzo (59 5LE oSpans
bl olssl (58 sl gogall lia sic kel of la>g) . 180°C dseS,Jl 8,1, d>,5 ¢ 30°C

Tl ol LoV oSy=all UIS 15 Lo puog
2ogoll 138 sic Lass ol 1y ac,wll wolS 13] Lo zuog

7=30 + 273 =303K
To =180 + 273 = 453K

> u =150
s (11.3.3) @slaoll

1.5=1+0125M"

M=20
1(11.3.1) asleoll

dp _,p M’
dA Al-M?
ol s sz 8 @igo LeSi dAOLS allw dp OV 5 .l oVl ol ol (i M> 1
U PR JEUN |
:(11.3.2) @sleoll
dv v 1

dA  Al1-M?

UI&U)\_S\.A&JSq_OQ.DUSSJ dv ol aL>g0 dAoygprUIwwluimM> 1
i Ac ol
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11.3.2 JU»

N

go90ll Sy=oll (58 VL) k awidl aoyd

. 1.25 sl (11.3.3) US| (ss

desomm (1) gasiall Aie Ma o g il S, ol
M=2 i Syzoll ,hod .dM/dx > 0 9 1.0 Soluws
e 20mm sJ] (1) glasodl aie 10mm 0

auie glo sace o wglholl (2) glasoll

(2)  ghaoll

d=10mm
M=1.0

2
11.3.3 <l ' = 4A_2 = d_z
Al

(11.3.6) @slsoll

A, _ 1 (2p Y
M, \k+1

4= ML {0.889[ 1+ 0.125 M7 ] }**

2
Jel) a,,S5 @yl b oMel @sleoll
(@)sdodl - Ugwdl, igw asy b plasiowl
F=0147[ 1+ 0.125 M2}5 - M

F'=0.166M: [ 1 + 0.125 M2P5 - 1.0

M1 = My — F/F’
g U9d 9 (g 999 1@sleal) Gul> d9>9 9w
M:>= 3.00, 2.77, 2.70, 2.70 rosigall Bgd J=l
M: = 0.40, 0.14, 0.15, 0.15 tsigall Ugs J=dl
M:z2=2.70 Ol zusiows dM/dx > 0 Gus> 1 ghsoll aic Ub,wdl dsub (sle Tslosel
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11.3.3 Jlo
sl wglholl (11.3.4) JSeid! (58 auogoll slgpdl 0Ly

olazewl Az p2, T2
M=0.5 .
S MI Ol udl WYsleo (I
T=320
wbleasVl uly | pslgd w
0=0.5E6 b VI Ol el 0ilgd (<
A=0.004
:=|9.9.U
k=14, R=287J/kg-K
11.3.4Jl|
:oVsleall plazewl (1
-1
T, T
To,=-2 07 = (&J T
I, T, Hy

pi =1+ L (k-1)M? = 1.050

gz = 1162

T2 = (1.162/1.05)* (320) = 289K

o 1162)
p=P2 P _ (&) pi = (—j (0.5E6) = 0.35MPa
L, 1.05

A, A* n 5(1162)°
» AT %(ﬁj A = %(%} A1 = 0.003n7
Ar A T 09\ 105

tSuAMI (sbleaiVl Ol ) jlall pilgd plaziwl (@
M T/To p/po A/A*
0.5 0.9524 0.8430 1.3398 | 1w Jdyw
0.9 0.8606 0.5913 1.0089 | :2w d yw

T, T, 09524
P = P2 &pz = (0'5913) (0.5F6) = 0.35MPa
Do P 0.8430
A * 1.0089
A= —*= A—Az = (0.004) = 0.003m?

A* A 1.3398
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adlsll de glo sac ,il 11.3.3

bl Ol yuid (11.3.5) @slsoll
1

Lo oM+ L(k =DM T e (1)
Yo

p=po= b isbleaMI 0yl o

Aalizo glo slacl aie ableansWI Lolssl e zuldl Uazdl (i obsl @il k= 1.4 ,Lucl o

M 0.2 0.4 0.5 1.0

po/p| 1.02 [1.08 [1.13 |1.58

E% |2 7 12 37

JSidl11.3.6

Wio juc ais)l UL uw Jaso 11.3.4

5€ e5gi o ] J—og0 Cu_ai0 p_ogs (11.3.6) JS_all
1auVl wlaslgally

Po slaol g3giwn 9 bhaall

To &9l (89 8=l a>)s

A o))l gogo e Cbinll ghio a>luw

M Ao,ll gogo dic Elo dac

:alisl bha> @lsleo

m = A :(LTJ(M JKRT )A - /LAMp ..... (11.3.7)

P o T wlhusioll (11.3.4) 9 (11.3.3) w¥sleodl plaziwl

[k AMp, g

R \/FO ,u_%
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m=,[— T eeeeerserssssrsr 11.3.8
R | uZ(k](t]]) ( )

@lgluo g (11.3.8) @sleoll (sle va@w ehy=> Lo 0l ) (s deVl Jasoll GoMsial oSy

98 Ol Sow Jase sdel g « M =1 aic Gasw Ol yw Jage (slel Ol sl ,aall

0 %A*
m, = 5( 2 j Do e, (11.3.9)
R\ k +1 \/17'_0
. M=1 sic Sl és,xdl asluell A Cus
gogoll udi (9 9
ES
basall a5l il = = 2= 2
Po Po
ES
8Lzl @, as oyl aadl == =T
T, 1,

k
-1 ES
(ij P (20528 slspl))
k +1 D,
re__2_ (=0.833 «lggll)
T, k+1 '

k=14 sc obsl aauall (11.3.9) @sleoll (slass g

A'P,
\/T_o .......................................
Jaze 0ld g8lgll (a8 ILSamVI o 138 39>8) B . Sxw Ml Ol cualziwl oMel GVsleoll
by G 0ladl Jolee wayyei oSow Uil g .0Mel abe el jlaioll (e Joiy wsdeall Ol
HUAVEW)VU 1 FPUWS RPN E3.1] U] FRUwe)

Cn= Sl alisl Olyuw Jase \ sdeall @liS)l Ol pw Jaso

. 0.94-0.99 ol (59 WS Gn @oud U guraill 81> dosdiwoll idliol) o

mu =0.04 (11.3.10)
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pWI Giioll 0\ bsall gujei 11.3.5

a5 M o oMl Citinll (58 aall g1595 Ld w5
1 sl esgiwe (9 8,2l a5 g bheall G Lead e
Do Wiy Lo g 9 Jusiawodl g3ginll (58 heall Jas o
. P (11.3.7) Jsoil — caiiadl om0 wod bhsall
«Po 5395, beall Ssbuy pr silpdl beall (
AN DPo/po=1.0
g Valhg eo = cuandl 8 beall Jbw

[

Oy
1.0 . PoS39S )l e bl e Js pr  silpll bheall (v
39 Obrw | S350 5 Cusioll (58 e Jlow lid Lax
w>goll X ool
wsilpill beall = (s>g,2l haall
. Pe =P

ousid Pe s>9,%l bgall passiy prlagall pas> LS o
« Me ac il 355 9 Sgiwnoll
1@ysga=ll (e

Jame izl 9 Me= 1.0 glo sac ar 9 pe = p¥ouai 9 P* &l pr ass 58 reiwll

P/Po

pP*/Po

11.3.7 sl

iy aosd cslel alisil ol

(Gl > €

J-bi 9 Pe cumins ¥ p* o (sl Py passy

e m 9 1.0 jic Me Jb 9 p* Seiundl 2uc

i il Olpaadll oy Bric s M

11.3.8 <.l b bys oy e iinll SO s all i
ISl — @usani wl=go e po ol auled
(11.3.8)

11.3.4 JlU o

be )l . 25°C a436S),) 6,y > a>)5 9 el S3¢ S, oo sic <lgd @ slao| £5gimos Jogo oV Cbin
0.0005 M? &,>9,%J| cuaioll &>Luro 9 0.1MPa aic culi (sl
romd el aliSUl Ol yw Jaze ol wglholl

0.15MPa slaoYl £3giuo 59 beall (i

.0.35Mpa sl £ 3gime (8 bheall (v
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=pe Ve Ae = ﬁAeMepe m
po = 0.15MPa

Byt Oyl OIS 13] Lo s T
po = 0.1E6

Do /oo = 0.667 > p*po (0.528)
Oy pa€ Oyl 03]

Pe =pp = 0.1E6
Pe /Po = 0.667

=35 = 0.6678c =
Py

pe =1.123 = 1 +s(k-1) MZ
—~Me =078

Te=To(Te/To) = To (uet ) = (25+273)(1/1.123) = 265K

: / 1.4
= [———(0.0005 )(0.78)(0.1E£6) = 0.17 ki
m 287(265)( )0.78)( ) g/s

po=0.35MPa
Dpo/bo=0.286 < p*po
Gy Oyl O3]
Pe /Po = p*/po= 0.528
pe = (0.528)(0.35E6)= 0.185E6

Te /To = T*/To= 0.833

Te =(0.833)298 = 248K

: 1.4
= |————(0.0005)(1.0)(0.185E6) = 0.41 ki
m "287(248)( )(1.0)( ) g/s

(11.3.9 )asleall plaziw! oSou 31 wglwl o
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(0.0005)(0.35E6)

my = 0.04
Y J298

= 0.41 kg/s

0.286 0.528 0.667 Pu/Po

11.3.9Jsuul

11.3.5 Jl»
8> @>y5 9 0.1MPa hen o=l (sl pgise cutioll J5ao slopl) sl @59y00 Jogo oY Cabio
1Sl asiodl 2,20 08 (il beall . 0.0001m? Cabiol) dumg,zdl a>Luodl . 303K @useS,
0.08MPa (i
0.05MPa (o
cosozxsdl 0Lyl Jaso g @liSUl 0l yw Jaso pass wgllaoll

p» = 0.08MPa @i
k AMp -
- X Tf m
po/po=0.08/0.1=0.8>0.528
G & Vbl O3
DPe= pb
Pe/po =0.8

P —_—
- = Iue
Py

0.8 =,u'3'5

— ue = 1.066

pe = 1+ Va(k-1) M2
> Me =0.57
Te/To = ue! =0.938
> T = (0.938)(303) = 284K

163



= 0.0189 kg/sm

Ge = m Jpe = m R Te Jpe = (0.0189)(287)(284)/0.08E6 = 19 I/s

po = 0.05MPa (v
pv/po=05<0.528
O pas Ol pndl 03
Pe/bo = 0.528

pe = 0.528(0.1E6) = 0.0528E6

*

A'P,

A

[
=0.023 kg/smu =0.04

ge = mR Te /pe

T
=(0.6333)(303) = 252KT, =T,
0

Ge = 31.5Il/s
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s Wl-pWI Casicoll 58 e o)l gujei 11.3.6

1.0

P/Po

11.3.10 il

1(11.3.5) powdl (58 oMl catiodl e Wy sl el @puis b @zl

po/po=1 5130yl lhtia) gluse csilpil el

Olyw V. ao = heall oo

cogall X olsl (58 Ol yaw Liy WS po passy

wigall ugs VLl adoladl WVsleall (] £92,]U 9 . sigo V9> sl JS (58 VLl
aJ SSgiano (sonl Joad oMl wolsdl (58 Ladloo bheall ol Jbs] oSew - (11.3.2) powsll -
Jmad pMI Coldl (09wl WU Elo sac bl Coladl (89wl pd casiodl (3l> (59
>l ol (08 padliy o casioll (B> (59 @) SSgiuwe (silel

. Pe = po wslpdl bheall Sobuy Jl 138 (58 o>9,3| baeall

(@) Jobual) (392l gogll 38 9 () 2ol &lui ,iST (silpidl bawiall Lassy

(o) Jlisd beall 0gS, iy g (M =1) Liss usSy sl (00 Elo sac Ol (2) Jolud| 500y
g Ugd S5Vl Cusiall golge JS (88 Oyl UsSy 9 (/P0=p*/po)

asleall s> axl 98 (2) Jelwdl Of puan ( 11.3.6) @slenll dwl,n

sigall Bgd J=l 98 9 « ((11.3.6) @bsleall bl J=dl (ol (5) ol

J> oo Jaxell beall jlase (| wilpdl bheall pass b, Jebwll 1ia le Jaxs
9 (@) Jsluwl) ailie s (5) oludl g . sJlgdl sle ( 11.3.4) 9 ( 11.3.6) oudsleoll
slaz 2l sac Ul oS 2,2l (59 obsl gl shhiol henll jass sl o oW Colsl
2%l aie oMl glu) sl=ll (b Asgall dosill e

il oMl craioll vowowaidl Jedadle (5) Holull By

wowoaill beall o sl Sgiwe | ol beall jaed 5] (@) Jgluwdl Lo

@

(v

(=

(@

(3) 9 ad] LLinall ooyl

08 ialae passd oymn cuaill O V] parsdl lig) cuasall S5l bl giigh oy V
B 0badl 2uay 5 5Ll (ilpidl heall pilgd @saos wlsgo puc sl
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11.3.6 Jlo
.Jlgdl s de 400K g 3MPa as,l,> a5 g abhe o slg d ay slaw] g3g5mos Jogo jib-pV Ciaio
o>l 2.0 Elo sam aaiodl o clopdl 2,20 O Lsllhodl . 0.1M? casiol) dusg,2dl d>Luwoll

cswowonaill 2ol (58 Obudl Jaso o silpidl bgall o asinll (3l> a>luo (i
Ul Jase puaid Hbladl Elo sac g Sow ng,s hes (slel (o

w>9,5l ghioll (59 (swououaill gogll e

11.3.12 Jsal

Me = 2.0

pe = 1+ Vo(k-1) M2 = 1.8

k

=0.128% = 5
Po

Pe = 0.128(3E6) = 0.383E6
pPv = pe = 0.383MPa

A, 1 (2 VT
= 1.688°¢ = —| “Fe
A M, \k+1

A% = Ar = (A*/Ac)he = 0.059n7

_[Eamp,
- Ak

Te =To (Te /To) = To ue? = (1.8)7 (400) = 222K

> m= {L(O.l) (2.0) (0.383E6) = 359 kg/s
2870222
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J2l 98 M &oud uis sy Sl eVl beall Ol glisiwl oS grouny)l e gMbYL (v
sic 1.0 Ssbuy o sac 0V @ - (sdeVl g8 ol (08 Ul Jaso .(igall wgs) ol
Bl Obsdl 950

A/A* = 1.688
r2s3oll e sl 0Ll piled plaziwl
M p/po A/A*
2.0 0.128 1.688
0.37 0.91 1.688

— pe=0.383MPa, 2.7E6
2.7MPa 198 (sl heall

M= 0.37 s bl o
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w>g,Lall g9l 11.3.7

Jonss 9 (7.2) powdll = Eg,Lall 8,580 (88 Catio oo 3l £l6Y s 5,5 Law ggylall (sl gdull

&l 143 lasio (s 6y580)l Wlpsioll obsl Lzl

11.3.13 Jsll

shhoVl @sles puwas caiioll o BVl @8,e J3ls pSx px> oy
[ﬂ pvdA) =[ﬂ odA
A A

Pe-Pa o953 ol e beall (s8lo puad gs)lall adawl JS (sle Josy (Sodl sl

RD-107

Jswid111.3.14

Pe VAe i = (Pe - Pa)Ae (i) + Rx

Fx = -Rx = [ pe VéAe + (e - pa)Ae ] (-1)

r ! X oll (oo 29l Wl ey o
............. (11.3.11) F, = pv A, +(p, = p, )A,

pe = p

14 2
l; = pPe Vi Ae = 2 (kRT M “A
’ RT ( IM A,

ORESY 7. 0.7 ) S (11.3.12)

s RD107 5Lb oo wdgrlo 285 basge (11.3.14) JSeidl ouw
oo 328 il asg,lo WlS,xe &)l Joui 9 dcwgyll slasl zoly (o
2,0, 55:l) augilill oIS ,zeall

2 www.aerospace.ru
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11.3.7 JU o
béall e oo, o oo 1.2km Las, V1 aie 4.5kN (Sl 1885 csdasd xg,lo yxo poo
k @oud . sJlgdl slc « 2MPa g 2000K BVl @8,¢ (o8 sl g 8,12l @5 . 0.02MPa (Sg=l

. 20 &l @lishl g 1.3 ool olylsl

SlLe 0byw Joso 3 casioll > aluo 5 @yl @slaodl g gyl Elo sace fows|
SV

Bys 9 S35V Cadiall (08 Ol Ol L5150l Sy

Oyl yu ULyl
Pe = pp = pa = 0.02E6
Pe/po = 0.01
(11.3.4) alsleoll
_ | Pe o — -0.231 —
He = ( j =(0.01) =289
Py
=3.55M , =| (u, -1 2 -
" e e k_]
13| dsleo
Fr= /(/4€Me2pa

4.563 = (1.3)Ae(3.55)(0.02E6)

e = 0-014[”2

Bl e g 03] 999 Ll 5zl (8O g Bgd Vbl Ul Loy
A* = A
shsi (11.3.6) &sleall

A1 (Z,Ue j(
A M, \k +1

\\,/f//_ A* = A = 0.014/9.63 =

=9.63

ﬁ‘:-. dt= 4Zmm de = 134mm 0.00145m?
Jswii11.3.15
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k AM,p,

m = —e et e
R T,
Te = (Te/To) To = (uet )To = 692K

R @:415,5
M 20

- \/I (0.014)(3.55)(0.02E 6) = 2.11 kg/sm
(415.5)(692)

R =
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11.3.1
. 0°C.40°C 35,2l wls)s sic slgpll (88 weall dcyuw o> [(
0°C.40°C :6,1,—=Jl wl>,s 3ic pg ol Le b wgall dcy, w sl (w
(k = 1.66, MW = 4)
8Lzl &5 (08 Sbw slgd sd 1000km/h ac,udly =i 6,5l Elo sac sl (2
. 0°C
[355m/s,331m/s;1039m/s,970m/s;0.84]

11.3.2

s -50°C ool 58 slogl) ¢ =VKRT  @Mall gyl oMl ol JausS] 2ol Toseianso (i

+50°C

gl &aud g dchasll @sleoll 33> 9 sl (il uxiodl ool bliadl Guss sle (w0

. R?

il duasdl @Ml plaziwl i Uas SV y950)l @il Gupizinll oo palziwl (2
[c = 0.6084T + 164.54, R%= 0.9993, 0.3%]

o bo . 15°C gzl 6,l,> @, . 400m ¢ a5,V aic 3000 km/h ac,un uboi @90 98 6,5lb 11.3.2
8 5lall woa) 8lroll 11 ¢loww Juud (i)l idlyo Bod 85Ul lpanai sl @,28V] &@dluoll

[895m]
:aJoVl GVl o @Vl oMl jaliw 11.3.3

I
T* 2u

P _ k+1ﬁ
p*  2u

[1+72(k-1)M?2] Solowi 1 awigall Al aic baall g 8,2l @5 pud P* g T s

9,3 asluuodl . oV Cibin ,ue 10°C ad 6,2l a5, S g3giwo oo poadpdl Sy 11.3.4
1] catiodl yue @aliSI Obyuw Jomo o] . 0.1MPa Lpud basall @8, (sJ] 385 9 0.0003mM? casiol)
& seiaoll (58 slholl beall OIS
0.15 MPa, (
0.35MPa. (v
[0.04kg/s, 0.10kg/s]
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s« gl e « 300m/s ¢ K350 ¢ 0.35MPa Soluws éc, il g 6,2 &>, 9 o)l 11.3.5
2.5 &gzl a>Luol) du>g 2l a>lunodl @i <olS 15] .50u00Y Ol Sezey il gl S50
2ol e dc il g 8,15l @) g bheall ol
[0.51MPa, 391K, 91 m/s]
e3gio (| Joogo g39iunll . 15°C g at 0.7MPa <lga g3gim0 89 8,2l @5 ¢ benll 11.3.6
ode 0.0052m?2 ¢ 0.0013 Solwss gyl 9 (slzdl (sehiio dliwo pili-pY Catio yuc Jubiwo
> L sdlgill
Ol ) Jazo (slel (i
15 0l eLsy g0 0lywl) Jae sl (adasi o] dumgyadl glo sac o (w0
Sy ol
. (©) A=l 8,bLoll JhsiwVl bhes b (2
[2.2kg/s;2.94,0.15;0.02MPa,0.69MPa]
e all Eu> g2l J] 300K 6,1, &>)5 9 0.3MPa ad heall ,uS €3gime oo clgd aai sl 11.3.7
9 & wliall au>g,23dl &>Lanodl 33> SauasY Easall J51s 0lyadl licl .1.0 kg/s Jazoes 0.1 MPa
loazxiwo Elo sac
oV Cadio (
railpY e (@
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ISUl Joleoll 5 0*2 9 @*1 dumogoll SISV

b s o
11.5.3Jsdl
X2 —x1 =x1* - xo*
- 3 ok vk
L e-n) = L gy 70
Doy = PF = Q% o, (11.5.13)

slgpl) sSIE>VI Ol o) @gaeMI uslodl oiled 2)3 - s=loll

11.5.1 Jlo
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5< i > bwgio . sJlg_il (s e 0.7 9 290K o

Po oosm [ Sou . 0.02 F ILSimVI S oleo & oud
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: £=0.02 pM22=:0c.)j'l.7E ° atioll (58 SV 9 wguVl

: 2 T s sl & g bt iall pud s
11.5.4Js4 .&bwl

:1-0 ghsoll (58 SV 0Ll Hlacl
Do = por

Po Po™* P Po
Po™ Pp Py P2

P12 = E = 0.02i=2
D 0.05

(2) & v

193



M ®>* | po/po*
0.7 0.208 1.094

o*1=p12 + p*> = 2 + 0.208 = 2.208

(1) S yw
®* | po/po*
2.208 1.54
(2) o Jd yw
M P/po
0.7 0.721
Poir = 0.1E6 (1.54)(1/1.094)(1/0.721) = 0.20E6= 0.20 MPa
To = Tor = Toz = (Toz/ To1) T2
(2) o d yw
M T/To
0.7 0.911
To = 318K
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e bge s slod g3giumny Joso 49, sl
Ll coldl o J—og0 9 pcls Cisio
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SV
S92 gLl (2
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=p*
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oghioll J9Lw @dansi d>g0 Gax
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Ji>Vl il 11.5.4.2

JS.idI(11.5.6)

silpl beall ¢ slaoYl hes ols go doghioll 58 bhaall &35 cale ¢ b Al 038 38 Ly

o=¢po=0 (0
o = Oyl oll (0 bheall Juwo ISVl Juis Lol
oghioll JSLw @si0s a>90
Me = 1.0, pe = ps*
p=p1>0 1
oY o beall (s 289
Me=1.0 loz> 20l @510 d>90
@ =@2> 1 (2
Me=1.0, pe = pp .S>93> Jglw
Me < 1.0, pe=pp ¢ =@3> @2 3
aoud (sdel LgoW Jgsall beo Jesw 1is g ISVl e wlel beall Juo puway

11.5.2 Jlo

Jogo 26.5mm algb ¢ 80mm o,k U,l,> Jgs2e wgul
9 e all Y Esio g clg B £5g5 o o]
=l . 300K 8,1,=Jl &_>,5 g 0.5MPa ¢ 395 ol
. 0.1MPa heall cu> g2l zgias e\ (sdsludl
JIsles Lg M JLSisV Joleo bhawgio OIS 13 @i
Jaso g 2,%0ll dic 81,5l @) g bheall ol 0.016
RPNEY RO

faod vais) s>l LoVl abhw e 3] (@
9 zreall 1ic 8L, =)l &> g heall Cwsl 0.008 sJ|
Ul Jase) &lodl (59 85031 s
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f=0.016 [(

7R VA Yy
_ptpr p*
P1 Po Po
Q12 = E = 0.016£ =53
D 0.08

P2%= 0 Lrgiowy well 2y3e sic Lyl 2,> Lol Ol Loy
0¥ =1z =53

(1) & v
o* | M p/p*
53 | 0.3 | 3.619
1) o Jgw
M p/po
0.3 | 0.940

p* = 0.566(1/3.619)(0.940) = 0.13E6 Pa

pv < p*
S gu VI
Me = 1.0
p2 = p* = 0.13MPa
P; = (0.94)(0.5)E6 = 0.471F6

172 8=l as)s e g
Toz = Tor = To = 300
T2 =(T/To)To

(2w dyw
M T/To
1.0 | 0.833
T2 = (0.833)300 = 250K
RS

k .
= ,R_Tz A2Mzp> = 3.0 kg/sm
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QP12 = 2.65

Q1* = @12 =2.65

p/p*

2.65

0.383

2.819

M

p/po

0.383

0.904

p* = 0.5E6(1/2.819)(0.904) = 0.172E6 Pa
pv < p*

Me = 1.0

P; = p* = 0.172MPa

P = (0.904)(0.5)E6 = 0.455E6

T2 =(T/To)2To = 250K

T/To

k .
kg/s825= R_T2 A>Mzp2 = 3.m

(3.825 — 3.01)100/3.01 = 27%

f=0.008 (v
D p¥ =

(1) o J oo

G WiVl

= iSUl 0Ll Jasmo 58 @lodl (58 83031
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‘le_n.p.ho

. 0.3 5 0.3MPa 0Vsls <lg gl pulsS Ol Sz Ll (1) glasoll uic glo sac g baall 11.5.1
e glo sac cowsl . 0.01 JSasVl Joleo bowgio . 30mm o,k o 15m wgull Jgb . slgill _sle
[0.66, 0.168MPa] comsbioll o baall (b olazVl o (2) ghsoll

Jai aolazswl sl . 0.025 JLSimVl Joles bwgio 9 100mm o,k U)l,> Jgsee weol 11.5.2
08 Lo .sJlgl (sde « 0.2MPa g 60°C J>aoll sic bheall 9 8, =l &>, . 3.0kg/s Jisos slga
[4.3m] Saigo 29,> al> shaed Lslholl Jghll

O sl (58 8,ly2dl pubsS JolS 5le) Ol yadl Jame of sl 11.5.3

= Ap* {k(k +1)}
2RT,

clgd £5gimos Jogl  0.02 JSix>Vl Joleo biwgio 5 0.5m algb ¢ 50mm o,ké U,L> Jgjeo wgwl
Sgizuo . 330K a,5¢5,J1 8,2l &>,5 g 0.7MPa gsg9iamoll 89 bhenll .ocl oV cusio juc bgeno
G Obyw sy oz poleiVl o (silpidl beall
alisJl Ol yw Joso )38 @i
ol asioll 2550 po5e 9 eVl g5 15] Liny (sl Oyl Jasoy (1) o8 axdl 06 (@
[2.80 kg/s, 3.03kg/s] wwadszioll Lsilpdl bheall s

9 heall . 10m agb Lol § yuad pcl Cadio yuc sloiol £3gimo oo clod o 11.5.4
U8V Olydgi0dl ULzl . 0.1MPa (silpadl bagall . 35°C 56,1 6,L,=Jl &>, 9 0.4MPa g >giuwoll
o>l 0.025 gVl o JSJ iVl Joleo bhwgio Of Loludl . 40mm g 80mm :lod wuwUVI
Al JsJ alis)l ol yw Jase

[2.65kg/s, 0.53kg/s]
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SwlasWI sbleaiVl ULl 11.6

Qi-sw 11.6.1

sVl Lol aio Jaall 11 (b bylyal sl go cableasVl Olyadl dwlys
amdl sl byl o

JESVI Juso o

&l vl ghso d5luo @
Gy Obpadl @

JoSle e

o\ UL oMel wliol sl (sdgy Sl Oyl (o 9

Q

£ £

11.6.1Jsa

Llolaill OV lesll 11.6.2

1(11.6.1) JSeadl — adolad! 8,00l (s @lall Sgizo
2

d(/7+v7 ) = dho

dh + vav = dho

deT'/' vdv = deTO

_kR le_i_vzd_v _kR Tﬂdi

k-1 T v k-1 T T,

2 2
c dT_,_CzMzdv c dT,

k-1 T v k1T,
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1 dT , dv 1 dar,
L S L A p
k-DM*> T v  (k-DM*>" T,

dAp) + d(pVPA) = 0

dp +d (pV2)=0

shhol hes> dsleo

dp +d (pV2)=dp + pvdv + vd(pv) = dp+ pvdv =0

dp +pvdv=20

k
L dv=0d—p
kRT p
d_p kMzﬂ:O ....................................
p %
+ﬂ:0d_p
v P
v
M= -
c
2 _ v?
kRT
_dav’ dT dM’
v: T M’
S _,dv dT
M v T
p =pRT
dp _dp , 4T
p p T
LS
po=p pk!
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i (5)9(4)9(3)s(2) wVslall
dv 2 dﬂ

v 1+kM> M

......................................... (11.6.1)

ubbses (3)9(11.6.1)
dp_. 2 M

......................................... (11.6.2)

o 1+kM* M

Oldasi (2) 9 (11.6.1)

A e (11.6.3)

ubbes (4)9(11.6.1)

e, (11.6.4)

e (11.6.4) 9 (11.6.1) 6 (1)

T, |2(k+D)(1-M?)|dM
T, | (+kM>Hu | M

.................. (11.6.5)

ollasi (6) 9 (11.6.3)

2 2
dpﬂ:{kM (1-M )}dM ............................ (11.6.6)

Po (A+kM >y | M

S,V Olusinll Joduw e 2lo dac il

(11.6.5) (s &l 038 9 &uunsy)l @slaoll ¢!
9 g0 WS Ol wdl ULS 15] 35 lo sac Ol s gy 9 .u>g0 dT0 Ul susi §,l,> adlo)|
wsugo 999 Uluudl WIS 13] Lasiy

.dT g dpos dps dp sle s oo wisiodl sl Gl 2

T usiel] 4>y aoyd M:L Wl g po psiol) @,> @od o M=1 0l >V (€]

Jk

202



Ao Sl UV o)l 11.6.3
i alolSoll dis,b puosd (11.6.6) - (11.6.1) wVsleoll JolSi g M= 1.0 sic (se>yo gog)l iz
1(11.6.1) @sleoll

——dM
M (A+kM )

ooVl il @zl oSl plaziwl o
A  BM +c 2

M  1+kM> M(1+kM?)

edv 2
vl

v

2 = (Ak +B)MF +CM +A
— A=2C=0 B=-2

2 2 2kM

- = — s —
MA+kM* M 1+kM?

I=L+1D

I = ZJ‘LO dﬂ

Py :ln(leju —InM?*=

MdM Iw 2MdM Il.o dm’

1.0
L=, 1+kM> W 1+kM?

1+kM =u
au = k dMP
du 1 1-!-](1\42
]2=_I7:-/nu=—/n(1+kMz) |M =In Ik
2
[=-//7MZ+//71+kM
1+k
* 2
an—=/n1+kM '//7/‘42
y 1+k
vi o 1+kM?
v (+kM?
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v (+kM’

e S 11.6.7,
y* 1+kM? ( )

rosdasi) (11.6.6) csJ] (11.6.2) aloledl Vsleoll @lolSo il 1ia wsde o,Sau

P, 1+kM *
F = W .............................................. (]1.6.8)
k +1
ﬁzm ................................................. (116.9)
T (k+1)’M*
@ T_*:(1+k—M2)2 ...... (]1.6.10)
T/T*“‘-"-....
1.0 :‘.‘ .‘it‘
3 i To/To* 2
: T, 20+k)M*u
. /\ T0*= YR ..(11.6.11)
0
T |
p,  1+k 2u
11.6.2054 Py * REE (k +1j .(11.6.12)

oy Ubrw Jgla> &5l oz 9 .(11.6.11) 9 (11.6.10) uidsleod) auly 8,50 (11.6.2) JSCidl un
1.4 agegill 8, =)l awid (@) g=lodl oo

6,151 Jliil Jaze 11.6.4

1 2-1 ghioll @8la)l &sleo

1,2 Q_ 1., 2
h1+5\/'1 +f—h2+5V2
m

Jsii11.6.3 = hoz — hor—
m

Q=6 m(Toz=To)urerm. (11.6.13)
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11.6.1 JU»

230K .0.55MPa a0l aic glo sac 5 8,12l @55 ¢ heall . SimVl Juio wgl (b slgd S yuw

o . 280K 6,15l &>, wguVl oo slggdl 2550 L sJlgidl Lsde ¢ 0.59

J<al11.6.4

T/T*

0.5

0.790

T5/T* =0.962

T/T*

0.962

0.65

Mz = 0.65

p/po

0.5

0.843

Por = 0.652E6 Pa

Po _ P Py
Po Po™ Po
M Po/po*
0.65 1.058
M Po/po*
0.5 1.114

Apo = poz — por = -32.8E3
32.8kPa = baall 8 jolazs)
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w93 glo sae s (I
S35 )l bheall (9 psidl ol (@
8,1l Jassl Jago waw>l 1.0kg/s 0wl Jase 0lS 15 (2

(i

(1), o

(2) ) uw

(v

(1) o J oo

(2) ) uw

(1),

poz = 0.619E6 Pa



(2

= m ( Toz - Toz)Q
G = kR/(k-1) = 1004.5 J/kg-K

Doduw
M T/To
0.5 | 0.9524
(2) o J yw
M T/To
0.65 | 0.9221
Toz = 303.7
Tor = 241.5

= 1.0 (1004.5)( 303.7 — 241.5) = 62.5kW Q
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(11.6.5) Jsuil

O—idl 11.6.5
3=l a5 w9 855 05mod Ul ) 8y, > a oS sl o]
sl i bluwY «(sJWL o .(11.6.13) @sleall - 70 &36S,JI
. Toéoud s Olyadl 56 awlys GSio Vbl (sde 8,1l
saey a2 W &39Sl 8,1, @5 a2 ausgy (11.6.5) JSiadl
Jiu g .(11.6.11) @sleall coms> sigall Ugs Sanldl (9 Elo
S5 osilaVl gogll (e Oyl puseans O (a ] sizeiall

T T
(M Fj gl giogll 5| ,(M ﬁj lolisyl

0 0

Jan i Gusedl 85L3 2 Rogell gas 9 - Toz — Tor Hlasedl @usgS,Jl 8,12l a5 (09 85L; (susy
Toz > oo s o sdel (| 2 gogoll 895 poye s as Guseanid] (sdsg 13] . 2% gogall (]

T, :
23lo)l (58 Gam sidl .aumeall algll el V T—O* OV gl (58 S é ua woll Ol To*

0

eUs of 6,5 (11.6.5) JSeadl osJl ,adl g .a8laodl 6,12l @S wcgind Obydl JS Josu Ol ga
038 (59 Wbyl (o 9 Ligo 9,3l VUl sy 9 To2 = To1 3530 M polaseily s &y

B, alll

11.6.2 JUo

&5 5 0.5 glo sam wg oVl sty (o] elgpll 883 sadl (58 .ol ghio 95 5 JSisV Juto Lyl
. 1000K sJl @ssS,Jl 6,1l @5 syl csi> Syzodl i o5 . 300K dussS, b,1,>

Ssdosl Elo sae sde el il g8 Lo

To2/Tor = 1000/300 = 3.333

Lo o T ) DB 1)
Iy T,* » I |,
ool a2y 0.5 sue Mr cusy 13]
(1), ww
M To/To*
0.5 0.691
wdasi (1) alsleodl
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T02

01

TO
]’E)*

0

1

1

T, T,
—1 =(3.333)(0.691) =2.303——
T, * T, *

0

2

T
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M>=1.0
Tn Tp
02 0 |2
To/To* M
0.3 0.274
M: = 0.274

= 300/1000 = 0.3

0

w3y Wbyl OF (s 133

s (1) @sleoll

(1), uw



3ulabi 11.6.5

(ramjet) sNbeladd]l Gaidl J,>x0 11.6.5.1

ale bslaS JaS) 9 abluwdly ol sr00 bl 14a (58 2,5 Sl (sblyl 235003 ,uilio sasks
ailanl acyum anghioly Juad) @ili ol sg,lo wlS)me o syse glizy @l V] .adlell wleyul)
oJugiand! e dwlio

wsdaeladl cadl &yxo) GwlbwVl pusail puogs (11.6.6) JSoal

J<l11.6.6

wigall B99 BVl 95 waclawl sl Jyxe 11.6.5.2

Joiy 8 ymall ue ail>) JS (58 (sigo 355 Oyl 0sSy dacladl wlS,xoll (o goill 1in (o
9 s 999 Uy 58 SLisVl i (sisall B slopll )ls (5] s989)l Blay . 3lxVl asye lls
g)laJl wladl &y=all g Solell shaclail ol e &ymoll 1id o bo 13a

(M &g byd wleyud Jsosl Saulsill (saclail dyxoll a>Mo pae) A Gabill i) csaly
skl 9 &wlll jeb se selxii o) gl V] 1965 iie dzpball (sle o)lidl wly 9 >5)

3 References:
1. Anderson, J D, Computational Fluid Dynamics, McGraw-Hill
2. http://www.onera.fr/conferences/ramjet-scramjet-pde/
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JI o

1 5S>l V Ol yw Sem wgol Jae e oVl 8,2 11.6.1
M1 T1 P A
0.4 | 300K 0.1MPa | 0.001m?

beall o Tor a5l 8,2l a3 amnl S22 Oyl Jslaz (5] g9>0L (i
. po1 (S3gS,JI
S, 3Vl il pud cowsl 400K T2 8Ll &) sl i gVl o (W
S5l Ol pilgs Lo
9 M2gMigT2gTi wlysstiall by Sl syl susill palsiwl Syl aliws s (2
(9) 9 @Y G, . M2 s 03 o
leglSIb 8)l,mdl Jlasl Jaso cams| (S

[310K, 0.112MPa, 0.52, 18kW]

togoVl Jsao aie . 0.01m? ashio da>luw sSSis! Y Ugul (s clgpdl Suw 11.6.2
M To Po
0.3 350K 0.2MPa

5 &yl Ol Jamo st . 450K (o] 2ol e @Sl 8,15l s, wasaiy)l 5 eVl e
[0.21MW, 0.35, 0.18MPa] 9,3l haall g cag,3l Elo sac

20 a>lawo . 0.25m? Cdinll J3a0 d>luo .ghiall ol Lgol oV Catio 2,50 0,8 11.6.3
:aVl (ol Il o £lgd 8ypai) dnghiiol] coazeiwl . 0.2M? LoVl ghiio § Cadioll

M T P
03| 300K 0.1MPa

sVl (08 iVl ol oSy 9 S il (58 Ol dl Hlicl (Soy
[0.42, 327K]. IMW Jasos wgsVl ew 15] @umg,2dl 85,2l @555 9 a9, Elo sac 538
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wNigwadl vgd UL Ll 11.7.1

sl - bl il 0l pal) ac sl Gulia) siosiladl 5 S ol sl ol @nglaio plaziwl ic
aslenll (sasi) bheall B4y ac il by, @luoll @8lall @8Me coonziuwl — (6.3.1.1)

,2
L e (22N ) (1)
Yo

Lbledsl Olpudl O 13] Jeo g 138 9 «culi (1) @sleoll (58 @LSIl @ picl

o p sl e plell gogoll Guy auasWl Lol,usl isde sVl go wablamil oyl ,bacl aic
Sogixoll g je v dc, wllg pr benll s 39Sl gogo g « 1 S)l =l Sgixoll g V¥ ac,
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Vv
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Nk
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0
[ 8yl a5 ulio
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Sl 0L ud) 9

ac,uldl puaid

2kRT B
y = k—lo 1—(£j ................................... (11.7.1)

10l las\

oSy So-zl e all 48,200 .oulagio Guriogilos aloge S39-S,)l b all g e all (sugile

Do 9 P psd poMsswl
Bl 70 aoud i 8,15l Gwbioe

Nigwadl (999 ULl 11.7.2
wigall 368 Oyl £llay] OISV Gud Wl sde @zl Ju
&9 Juc iy g9 .8nino j9uc U auguall ugs adl=dl )
0S5 Ac,aull VB (igo 999 Ol 88 (oS )l sl Ll
> Ao dasao e Auigo B9b 5 eVl adl> sic o

— alilo @oas Vbl yu2) ueosoll Gu Sauzall Lol
(11.7.2) Js_all
Slsiel oSy (90l GlaaiVl las (58 Ol (5] Sl
1 z 3 Qoall oVsles (o d3laiwll g baoleio 9 donisime dosall
11.7.2084 (11.4) pewsl (58 da0leioll
Pa_ (%J ....................... (11.4.3)

D, 1+kM ,

(11.3.4) SauasMl Ol @sleo csdasi (2) gogoll ic o

k
Po o[yt —1)M 21+
P
k14 kM 2
& =&& =[1+%(k _1)M22]k—1 1

P

P, D 1+kM22

ot (11.4.4) dsleoll o Mio Mo e Ganssidl oSeu s
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&_ (k +1)k+1

= ———— (1M R 11.7.2
2 2ka+1—1<(2 : } (.72

glioll 3umo Riogoe Jic P1 - Pa uwbi) bheall Lgol 9 Poz - Pa Lwlid) S36S,Jl heall Ll e
M1 aogd shasi) @,,,S5 ddy,kay (11.7.2) @sleodl =i pi + 5i09,WL pr Sezdl bheall Gulas o . (1)
asleodl oo 77 8,15l @5 Vol s Véce il lsd

% =42k =DM T s (11.3.3)
0

dslaoll pasws pd

Y N 73 (11.7.3)

11.7.1 Jlo
Wil Jag .8, =) Guliso 9 539, o waul 85p50 8,5la)l . 0.1MPa abes g> s 8,5l jub
. 440K ssl,a)l 81,5l Lwliio shasy 9 Sezdl baeall (399 0.14MPa scl,a)l (sle S35l heall

p=01F6pa, po=(0.14+ 0.1)E6Pa = 0.24 F6 Pa
To = 440K
g0 W93 Uyl Of sl (88 (o5
p/po=0.1/024 = 0.417

M=119 e S35l ol udl pilgd
g0 999 Oyl Ol sde Uiy Lao
poz = 0.249E6, p: = 0.1E6
(11.7.2) asleoll
M8 — 1.284M7 + 0.183 = 0
- M =1.2
(1) gogoll aie S Ol udl assld

M T/To
1.2 0.7764

T: =440 (0.7764) = 342K

v =M NKRT = 445m/s = 1600km/h.
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H(S)kmo Sox beo sic)sladl yolg>

ailois)l a>g,ll [m?/s] | asLsl [kg/m?] | 6,1l &>, [°C]
1.007E-6 998.2 20
0.897E-6 997.1 25
0.804E-6 995.7 30
0.727E-6 994.1 35
0.661E-6 992.2 40
0.605E-6 990.2 45
0.556E-6 988.1 50
s " sawbdll” Sexdl baall Lolss
1.000 1.000 288.2 0
0.9421 0.9529 284.9 500
0.8870 0.9075 281.7 1000
0.7846 0.8217 275.2 2000
0.6920 0.7423 268.7 3000
0.6085 0.6689 262.2 4000
0.5334 0.6012 255.7 5000

Po = 1.01325E5Pa absolute

po = 1.2250kg/m3

214



alo uld anl, wbbMe t o (§_=loll

f=1(x,y,2) w3 1
razioll 9 f Jlow U

coJlgill e Zay o X wlaluVl 8 ¢z 5 gy s ox @ilho wLS,e 15 azie @ il 3] 2
oJ aclal ol

a ap, A

V.o = gcx+dc’+2ck ........................................ )
a8Vl sl JolSil 5 ol JolSil aclall @b bay 3
................................ (3){:&(V.9)dvzﬁg.dé

1% A
(3) @Ml oo 4
................................ @ (vF)av = §§ £ ndA

|4 A
&zl Wslaol) Ssasll J=l 5

Ognid) ~cyigw @iyl obsl @sleol) Hix cowsl  1Jlino
x32 + 0.3x = 1.80
f=x32+03x-1.8
f=32x22+0.3
Xi+1 = X1 — f/f’

x=1.00, 1.14, 1.13, 1.13

215



UV (08 ULl FISYI Joloo 1= o=cloJl

k/d | 0.0000 | 0.0001 | 0.0002 | 0.0003 | 0.0004 | 0.0005 | 0.0006 |
Re
5.0E+3 0.038 | 0.038 | 0038 | 0.038 | 0.038 | 0.039 | 0.039
6.0E+3 0.036 | 0.036 | 0036 | 0.036 | 0.037 | 0.037 | 0.037
7.0E+3 0.035 [ 0.035 | 0035 | 0.035 | 0.035 | 0.035 | 0.035
8.0E+3 0.033 | 0.033 | 0.034 | 0.034 | 0.034 [ 0.034 [ 0.034
9.0E+3 0.032 | 0.032 | 0.033 | 0.033 | 0.033 | 0.033 | 0.033
10.0E+3 0.031 [ 0.032 | 0032 | 0.032 | 0.032 [ 0.032 [ 0.032
20.0E+3 0.026 | 0.027 | 0.027 | 0.027 [ 0.027 | 0.027 | 0.028
30.0E+3 0.024 | 0.024 | 0.024 | 0.025 | 0.025 [ 0.025 | 0.025
40.0E+3 0.022 | 0.023 | 0.023 | 0.023 [ 0.024 | 0.024 | 0.024
50.0E+3 0.021 [ 0.022 | 0.022 | 0.022 | 0.023 [ 0.023 | 0.023
60.0E+3 0.020 | 0.021 | 0.021 | 0.022 [ 0.022 | 0.022 | 0.023
70.0E+3 0.020 | 0.020 | 0.021 | 0.021 [ 0.021 | 0.022 | 0.022
80.0E+3 0.019 [ 0020 | 0020 | 0.021 | 0.021 | 0.021 | 0.022
90.0E+3 0.019 | 0.019 [ 0.020 | 0.020 | 0.021 | 0.021 | 0.021
100.0E+3 0.018 [ 0.019 | 0.019 | 0.020 | 0.020 | 0.021 | 0.021
200.0E+3 0.016 | 0.017 | 0.017 | 0.018 | 0.019 | 0.019 [ 0.020
300.0E+3 0.015 [ 0.016 | 0.017 | 0.017 | 0.018 | 0.019 [ 0.019
400.0E+3 0.014 | 0.015 | 0016 | 0.017 | 0.018 | 0.018 | 0.019
500.0E+3 0.013 [ 0.015 | 0016 | 0.017 | 0.017 | 0.018 | 0.019
600.0E+3 0.013 | 0.014 | 0015 | 0.016 | 0.017 | 0.018 | 0.018
700.0E+3 0.013 | 0.014 | 0015 | 0.016 | 0.017 | 0.018 | 0.018
800.0E+3 0.012 | 0014 | 0015 | 0.016 | 0.017 | 0.018 | 0.018
900.0E+3 0.012 | 0.014 | 0015 | 0.016 | 0.017 | 0.018 | 0.018
1.0E+6 0.012 | 0014 | 0015 | 0.016 | 0.017 | 0.018 | 0.018
2.0E+6 0.011 | 0.013 | 0.015 | 0.016 [ 0.017 | 0.017 | 0.018
3.0E+6 0.010 | 0.013 | 0.014 | 0.015 | 0.016 | 0.017 | 0.018
4.0E+6 0.009 [ 0.013 | 0.014 | 0.015 | 0.016 | 0.017 | 0.018
5.0E+6 0.009 [ 0.013 | 0.014 | 0.015 | 0.016 | 0.017 [ 0.018
6.0E+6 0.009 | 0013 | 0.014 | 0.015 | 0.016 | 0.017 | 0.018
7.0E+6 0.009 [ 0.012 | 0.014 | 0.015 | 0.016 [ 0.017 [ 0.018
8.0E+6 0.009 | 0012 | 0.014 | 0.015 | 0.016 | 0.017 | 0.018
9.0E+6 0.008 | 0.012 | 0.014 | 0.015 | 0.016 | 0.017 [ 0.018
10.0E+6 0.008 | 0012 | 0.014 | 0.015 | 0.016 | 0.017 | 0.018
20.0E+6 0.007 | 0.012 | 0.014 | 0.015 | 0.016 | 0.017 [ 0.018
30.0E+6 0.007 | 0.012 | 0.014 | 0.015 | 0.016 | 0.017 | 0.018
40.0E+6 0.007 | 0012 | 0.014 | 0.015 | 0.016 | 0.017 | 0.018
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k/d | 0.0007 0.0009 | 0.0010 | 0.0020 | 0.0030 | 0.0040
Re

5.0E+3 0.039 0.039 0.039 0.040 0.041 0.042
6.0E+3 0.037 0.037 0.037 0.039 0.040 0.041
7.0E+3 0.036 0.036 0.036 0.037 0.038 0.040
8.0E+3 0.034 0.035 0.035 0.036 0.037 0.039
9.0E+3 0.033 0.034 0.034 0.035 0.036 0.038
10.0E+3 0.032 0.033 0.033 0.034 0.036 0.037
20.0E+3 0.028 0.028 0.028 0.030 0.032 0.034
30.0E+3 0.026 0.026 0.026 0.029 0.031 0.032
40.0E+3 0.024 0.025 0.025 0.028 0.030 0.032
50.0E+3 0.024 0.024 0.024 0.027 0.029 0.031
60.0E+3 0.023 0.024 0.024 0.027 0.029 0.031
70.0E+3 0.022 0.023 0.023 0.026 0.029 0.031
80.0E+3 0.022 0.023 0.023 0.026 0.028 0.030
90.0E+3 0.022 0.022 0.023 0.026 0.028 0.030
100.0E+3 0.022 0.022 0.023 0.026 0.028 0.030
200.0E+3 0.020 0.021 0.021 0.025 0.027 0.030
300.0E+3 0.020 0.021 0.021 0.025 0.027 0.029
400.0E+3 0.019 0.020 0.021 0.024 0.027 0.029
500.0E+3 0.019 0.020 0.021 0.024 0.027 0.029
600.0E+3 0.019 0.020 0.021 0.024 0.027 0.029
700.0E+3 0.019 0.020 0.020 0.024 0.027 0.029
800.0E+3 0.019 0.020 0.020 0.024 0.027 0.029
900.0E+3 0.019 0.020 0.020 0.024 0.027 0.029
1.0E+6 0.019 0.020 0.020 0.024 0.027 0.029
2.0E+6 0.019 0.020 0.020 0.024 0.027 0.029
3.0E+6 0.019 0.020 0.020 0.024 0.027 0.029
4.0E+6 0.019 0.020 0.020 0.024 0.027 0.029
5.0E+6 0.018 0.020 0.020 0.024 0.027 0.029
6.0E+6 0.018 0.020 0.020 0.024 0.027 0.029
7.0E+6 0.018 0.020 0.020 0.024 0.027 0.029
8.0E+6 0.018 0.020 0.020 0.024 0.027 0.029
9.0E+6 0.018 0.020 0.020 0.024 0.027 0.029
10.0E+6 0.018 0.020 0.020 0.024 0.027 0.029
20.0E+6 0.018 0.020 0.020 0.024 0.027 0.029
30.0E+6 0.018 0.020 0.020 0.024 0.027 0.029
40.0E+6 0.018 0.020 0.020 0.024 0.027 0.029
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k/d | 0.005 0.006 0.007 0.008 0.009 0.010 0.011
Re

5.0E+3 0.043 0.044 0.045 0.046 0.047 0.048 0.049
6.0E+3 0.042 0.043 0.044 0.045 0.046 0.047 0.048
7.0E+3 0.041 0.042 0.043 0.044 0.045 0.046 0.047
8.0E+3 0.040 0.041 0.042 0.043 0.044 0.045 0.046
9.0E+3 0.039 0.040 0.041 0.042 0.043 0.044 0.045
10.0E+3 0.038 0.040 0.041 0.042 0.043 0.044 0.045
20.0E+3 0.035 0.037 0.038 0.039 0.040 0.041 0.043
30.0E+3 0.034 0.035 0.037 0.038 0.039 0.041 0.042
40.0E+3 0.033 0.035 0.036 0.038 0.039 0.040 0.041
50.0E+3 0.033 0.034 0.036 0.037 0.039 0.040 0.041
60.0E+3 0.033 0.034 0.036 0.037 0.038 0.040 0.041
70.0E+3 0.032 0.034 0.035 0.037 0.038 0.040 0.041
80.0E+3 0.032 0.034 0.035 0.037 0.038 0.039 0.041
90.0E+3 0.032 0.034 0.035 0.037 0.038 0.039 0.041
100.0E+3 0.032 0.034 0.035 0.037 0.038 0.039 0.041
200.0E+3 0.031 0.033 0.035 0.036 0.038 0.039 0.040
300.0E+3 0.031 0.033 0.035 0.036 0.038 0.039 0.040
400.0E+3 0.031 0.033 0.035 0.036 0.037 0.039 0.040
500.0E+3 0.031 0.033 0.035 0.036 0.037 0.039 0.040
600.0E+3 0.031 0.033 0.035 0.036 0.037 0.039 0.040
700.0E+3 0.031 0.033 0.035 0.036 0.037 0.039 0.040
800.0E+3 0.031 0.033 0.034 0.036 0.037 0.039 0.040
900.0E+3 0.031 0.033 0.034 0.036 0.037 0.039 0.040
1.0E+6 0.031 0.033 0.034 0.036 0.037 0.039 0.040
2.0E+6 0.031 0.033 0.034 0.036 0.037 0.039 0.040
3.0E+6 0.031 0.033 0.034 0.036 0.037 0.039 0.040
4.0E+6 0.031 0.033 0.034 0.036 0.037 0.039 0.040
5.0E+6 0.031 0.033 0.034 0.036 0.037 0.039 0.040
6.0E+6 0.031 0.033 0.034 0.036 0.037 0.039 0.040
7.0E+6 0.031 0.033 0.034 0.036 0.037 0.039 0.040
8.0E+6 0.031 0.033 0.034 0.036 0.037 0.039 0.040
9.0E+6 0.031 0.033 0.034 0.036 0.037 0.039 0.040
10.0E+6 0.031 0.033 0.034 0.036 0.037 0.039 0.040
20.0E+6 0.031 0.033 0.034 0.036 0.037 0.039 0.040
30.0E+6 0.031 0.033 0.034 0.036 0.037 0.039 0.040
40.0E+6 0.031 0.033 0.034 0.036 0.037 0.039 0.040
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k/d| 0.012 0.013 0.014
Re

5.0E+3 0.050 0.051 0.052
6.0E+3 0.049 0.050 0.050
7.0E+3 0.048 0.049 0.050
8.0E+3 0.047 0.048 0.049
9.0E+3 0.046 0.047 0.048
10.0E+3 0.046 0.047 0.048
20.0E+3 0.044 0.045 0.046
30.0E+3 0.043 0.044 0.045
40.0E+3 0.042 0.044 0.045
50.0E+3 0.042 0.043 0.044
60.0E+3 0.042 0.043 0.044
70.0E+3 0.042 0.043 0.044
80.0E+3 0.042 0.043 0.044
90.0E+3 0.042 0.043 0.044
100.0E+3 0.042 0.043 0.044
200.0E+3 0.041 0.043 0.044
300.0E+3 0.041 0.043 0.044
400.0E+3 0.041 0.042 0.044
500.0E+3 0.041 0.042 0.044
600.0E+3 0.041 0.042 0.044
700.0E+3 0.041 0.042 0.044
800.0E+3 0.041 0.042 0.044
900.0E+3 0.041 0.042 0.044
1.0E+6 0.041 0.042 0.044
2.0E+6 0.041 0.042 0.043
3.0E+6 0.041 0.042 0.043
4.0E+6 0.041 0.042 0.043
5.0E+6 0.041 0.042 0.043
6.0E+6 0.041 0.042 0.043
7.0E+6 0.041 0.042 0.043
8.0E+6 0.041 0.042 0.043
9.0E+6 0.041 0.042 0.043
10.0E+6 0.041 0.042 0.043
20.0E+6 0.041 0.042 0.043
30.0E+6 0.041 0.042 0.043
40.0E+6 0.041 0.042 0.043
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Re
— | 4E+03 | 5E+03 | 6E+03 | 7E+03 | 8E+03 | 9E+03 | 1E+04 | 2E+04 | 3E+04 | 5E+04 | 1E+05 | 2E+05 | 3E+05 | 1E+09
AO/A1
{
0.70 0.827 0.819 0.811 0.807 0.805 0.805
0.60 0.785 0.771 0.762 0.755 0.746 0.743 0.743 0.743
0.50 0.739 0.735 0.731 0.728 0.715 0.707 0.700 0.695 0.695 0.695 0.695
0.40 0.703 0.699 0.695 0.692 0.690 0.677 0.670 0.663 0.661 0.661 0.661 0.661
0.30 0.658 0.655 0.653 0.651 0.650 0.641 0.637 0.634 0.633 0.633 0.633 0.633
0.20 0.637 0.632 0.630 0.628 0.627 0.626 0.619 0.616 0.613 0.613 0.613 0.613 0.613
0.10 0.615 0.614 0.612 0.611 0.610 0.610 0.608 0.607 0.605 0.604 0.603 0.603 0.603 0.603
0.05 0.605 0.604 0.603 0.601 0.601 0.600 0.600 0.598 0.598 0.598 0.598 0.598 0.598 0.598
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M A/A* p/po T/To A.p/A*.po M A/A* p/po T/To A.p/A*.po

0.02 28.9421 0.9997 0.9999 28.9340 1.02 1.0003 0.5160 0.8278 0.5162
0.04 14.4815 0.9989 0.9997 14.4653 1.04 1.0013 0.5039 0.8222 0.5045
0.06 9.6659 0.9975 0.9993 9.6416 1.06 1.0029 0.4919 0.8165 0.4933
0.08 7.2616 0.9955 0.9987 7.2292 1.08 1.0051 0.4800 0.8108 0.4825
0.10 5.8218 0.9930 0.9980 5.7813 1.10 1.0079 0.4684 0.8052 0.4721
0.12 4.8643 0.9900 0.9971 4.8156 1.12 1.0113 0.4568 0.799%4 0.4620
0.14 4.1824 0.9864 0.9961 4.1255 1.14 1.0153 0.4455 0.7937 0.4523
0.16 3.6727 0.9823 0.9949 3.6077 1.16 1.0198 0.4343 0.7879 0.4428
0.18 3.2779 0.9776 0.9936 3.2047 1.18 1.0248 0.4232 0.7822 0.4337
0.20 2.9635 0.9725 0.9921 2.8820 1.20 1.0304 0.4124 0.7764 0.4249
0.22 2.7076 0.9668 0.9904 2.6178 1.22 1.0366 0.4017 0.7706 0.4164
0.24 2.4956 0.9607 0.9886 2.3975 1.24 1.0432 0.3912 0.7648 0.4081
0.26 2.3173 0.9541 0.9867 2.2109 1.26 1.0504 0.3809 0.7590 0.4001
0.28 2.1656 0.9470 0.9846 2.0508 1.28 1.0581 0.3708 0.7532 0.3924
0.30 2.0351 0.9395 0.9823 1.9119 1.30 1.0663 0.3609 0.7474 0.3848
0.32 1.9219 0.9315 0.9799 1.7902 1.32 1.0750 0.3512 0.7416 0.3775
0.34 1.8229 0.9231 0.9774 1.6827 1.34 1.0842 0.3417 0.7358 0.3704
0.36 1.7358 0.9143 0.9747 1.5871 1.36 1.0940 0.3323 0.7300 0.3636
0.38 1.6587 0.9052 0.9719 1.5014 1.38 1.1042 0.3232 0.7242 0.3569
0.40 1.5901 0.8956 0.9690 1.4242 1.40 1.1149 0.3142 0.7184 0.3504
0.42 1.5289 0.8857 0.9659 1.3542 1.42 1.1262 0.3055 0.7126 0.3440
0.44 1.4740 0.8755 0.9627 1.2905 1.44 1.1379 0.2969 0.7069 0.3379
0.46 1.4246 0.8650 0.9594 1.2322 1.46 1.1501 0.2886 0.7011 0.3319
0.48 1.3801 0.8541 0.9559 1.1788 1.48 1.1629 0.2804 0.6954 0.3261
0.50 1.3398 0.8430 0.9524 1.1295 1.50 1.1762 0.2724 0.6897 0.3204
0.52 1.3034 0.8317 0.9487 1.0840 1.52 1.1899 0.2646 0.6840 0.3149
0.54 1.2703 0.8201 0.9449 1.0417 1.54 1.2042 0.2570 0.6783 0.3095
0.56 1.2403 0.8082 0.9410 1.0024 1.56 1.2190 0.2496 0.6726 0.3042
0.58 1.2130 0.7962 0.9370 0.9658 1.58 1.2344 0.2423 0.6670 0.2991
0.60 1.1882 0.7840 0.9328 0.9316 1.60 1.2502 0.2353 0.6614 0.2941
0.62 1.1656 0.7716 0.9286 0.8995 1.62 1.2666 0.2284 0.6558 0.2893
0.64 1.1451 0.7591 0.9243 0.8693 1.64 1.2836 0.2217 0.6502 0.2845
0.66 1.1265 0.7465 0.9199 0.8410 1.66 1.3010 0.2152 0.6447 0.2799
0.68 1.1097 0.7338 0.9153 0.8142 1.68 1.3190 0.2088 0.6392 0.2754
0.70 1.0944 0.7209 0.9107 0.7890 1.70 1.3376 0.2026 0.6337 0.2710
0.72 1.0806 0.7080 0.9061 0.7651 1.72 1.3567 0.1966 0.6283 0.2667
0.74 1.0681 0.6951 0.9013 0.7424 1.74 1.3764 0.1907 0.6229 0.2625
0.76 1.0570 0.6821 0.8964 0.7209 1.76 1.3967 0.1850 0.6175 0.2584
0.78 1.0471 0.6691 0.8915 0.7005 1.78 1.4175 0.1794 0.6121 0.2544
0.80 1.0382 0.6560 0.8865 0.6811 1.80 1.4390 0.1740 0.6068 0.2504
0.82 1.0305 0.6430 0.8815 0.6626 1.82 1.4610 0.1688 0.6015 0.2466
0.84 1.0237 0.6300 0.8763 0.6449 1.84 1.4836 0.1637 0.5963 0.2429
0.86 1.0179 0.6170 0.8711 0.6281 1.86 1.5069 0.1587 0.5910 0.2392
0.88 1.0129 0.6041 0.8659 0.6119 1.88 1.5308 0.1539 0.5859 0.2356
0.90 1.0089 0.5913 0.8606 0.5965 1.90 1.5553 0.1492 0.5807 0.2321
0.92 1.0056 0.5785 0.8552 0.5817 1.92 1.5804 0.1447 0.5756 0.2287
0.94 1.0031 0.5658 0.8498 0.5675 1.94 1.6062 0.1403 0.5705 0.2253
0.96 1.0014 0.5532 0.8444 0.5539 1.96 1.6326 0.1360 0.5655 0.2220
0.98 1.0003 0.5407 0.8389 0.5409 1.98 1.6597 0.1318 0.5605 0.2188
1.00 1.0000 0.5283 0.8333 0.5283 2.00 1.6875 0.1278 0.5556 0.2157
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M A/A* p/po T/To A.p/A*.po

2.02
2.04
2.06
2.08
2.10
2.12
2.14
2.16
2.18
2.20
2.22
2.24
2.26
2.28
2.30
2.32
2.34
2.36
2.38
2.40
242
2.44
2.46
2.48
2.50
2.52
2.54
2.56
2.58
2.60
2.62
2.64
2.66
2.68
2.70
2.72
2.74
2.76
2.78
2.80
2.82
2.84
2.86
2.88
2.90
2.92
2.94
2.96
2.98
3.00

1.7160 0.1239 0.5506
1.7451 0.1201 0.5458
1.7750 0.1164 0.5409
1.8056 0.1128 0.5361
1.8369 0.1094 0.5313
1.8690 0.1060 0.5266
1.9018 0.1027 0.5219
1.9354 0.0996 0.5173
1.9698 0.0965 0.5127
2.0050 0.0935 0.5081
2.0409 0.0906 0.5036
2.0777 0.0878 0.4991
2.1153 0.0851 0.4947
2.1538 0.0825 0.4903
2.1931 0.0800 0.4859
2.2333 0.0775 0.4816
2.2744 0.0751 0.4773
2.3164 0.0728 0.4731
2.3593 0.0706 0.4688
2.4031 0.0684 0.4647
2.4479 0.0663 0.4606
2.4936 0.0643 0.4565
2.5403 0.0623 0.4524
2.5880 0.0604 0.4484
2.6367 0.0585 0.4444
2.6864 0.0567 0.4405
2.7372 0.0550 0.4366
2.7891 0.0533 0.4328
2.8420 0.0517 0.4289
2.8960 0.0501 0.4252
2.9511 0.0486 0.4214
3.0073 0.0471 0.4177
3.0647 0.0457 0.4141
3.1233 0.0443 0.4104
3.1830 0.0430 0.4068
3.2439 0.0417 0.4033
3.3061 0.0404 0.3998
3.3695 0.0392 0.3963
3.4342 0.0380 0.3928
3.5001 0.0368 0.3894
3.5674 0.0357 0.3860
3.6359 0.0347 0.3827
3.7058 0.0336 0.3794
3.7771 0.0326 0.3761
3.8498 0.0317 0.3729
3.9238 0.0307 0.3696
3.9993 0.0298 0.3665
4.0762 0.0289 0.3633
4.1547 0.0281 0.3602
4.2346 0.0272 0.3571

0.2126 3.02 4.3160 0.0264 0.3541
0.2096 3.04 4.3989 0.0256 0.3511
0.2066 3.06 4.4835 0.0249 0.3481
0.2037 3.08 4.5696 0.0242 0.3452
0.2009 3.10 4.6573 0.0234 0.3422
0.1981 3.12 4.7467 0.0228 0.3393
0.1954 3.14 4.8377 0.0221 0.3365
0.1927 3.16 4.9304 0.0215 0.3337
0.1901 3.18 5.0248 0.0208 0.3309
0.1875 3.20 5.1209 0.0202 0.3281
0.1850 3.22 5.2189 0.0196 0.3253
0.1825 3.24 5.3186 0.0191 0.3226
0.1801 3.26 5.4201 0.0185 0.3199
0.1777 3.28 5.5234 0.0180 0.3173
0.1754 3.30 5.6286 0.0175 0.3147
0.1731 3.32 5.7357 0.0170 0.3121
0.1709 3.34 5.8448 0.0165 0.3095
0.1687 3.36 5.9558 0.0160 0.3069
0.1665 3.38 6.0687 0.0156 0.3044
0.1644 3.40 6.1837 0.0151 0.3019
0.1623 3.42 6.3007 0.0147 0.2995
0.1602 3.44 6.4197 0.0143 0.2970
0.1582 3.46 6.5409 0.0139 0.2946
0.1563 3.48 6.6642 0.0135 0.2922
0.1543 3.50 6.7896 0.0131 0.2899
0.1524 3.52 6.9172 0.0127 0.2875
0.1505 3.54 7.0470 0.0124 0.2852
0.1487 3.56 7.1791 0.0120 0.2829
0.1469 3.58 7.3134 0.0117 0.2806
0.1451 3.60 7.4501 0.0114 0.2784
0.1434 3.62 7.5891 0.0111 0.2762
0.1417 3.64 7.7304 0.0108 0.2740
0.1400 3.66 7.8742 0.0105 0.2718
0.1383 3.68 8.0204 0.0102 0.2697
0.1367 3.70 8.1690 0.0099 0.2675
0.1351 3.72 8.3202 0.0096 0.2654
0.1335 3.74 8.4739 0.0094 0.2633
0.1320 3.76 8.6302 0.0091 0.2613
0.1305 3.78 8.7891 0.0089 0.2592
0.1290 3.80 8.9506 0.0086 0.2572
0.1275 3.82 9.1147 0.0084 0.2552
0.1261 3.84 9.2816 0.0082 0.2532
0.1246 3.86 9.4513 0.0080 0.2513
0.1232 3.88 9.6237 0.0077 0.2493
0.1219 3.90 9.7989 0.0075 0.2474
0.1205 3.92 9.9770 0.0073 0.2455
0.1192 3.94 10.1580 0.0071 0.2436
0.1178 3.96 10.3419 0.0069 0.2418
0.1166 3.98 10.5288 0.0068 0.2399
0.1153 4.00 10.7187 0.0066 0.2381
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M A/A* p/po T/To A.p/A*.po

0.1140
0.1128
0.1116
0.1104
0.1092
0.1080
0.1069
0.1058
0.1047
0.1036
0.1025
0.1015
0.1004
0.0994
0.0984
0.0974
0.0964
0.0954
0.0945
0.0935
0.0926
0.0917
0.0908
0.0899
0.0890
0.0882
0.0873
0.0865
0.0856
0.0848
0.0840
0.0832
0.0824
0.0817
0.0809
0.0801
0.0794
0.0787
0.0779
0.0772
0.0765
0.0758
0.0752
0.0745
0.0738
0.0731
0.0725
0.0719
0.0712
0.0706



M1 M2 p2/p1 T2/T1 pPoz2/Por

1.02 0.981
1.04 0.962
1.06 0.944
1.08 0.928
1.10 0.912
1.12 0.897
1.14 0.882
1.16 0.868
1.18 0.855
1.20 0.842
1.22 0.830
1.24 0.818
1.26 0.807
1.28 0.796
1.30 0.786
1.32 0.776
1.34 0.766
1.36 0.757
1.38 0.748
1.40 0.740
1.42 0.731
1.44 0.723
1.46 0.716
1.48 0.708
1.50 0.701
1.52 0.694
1.54 0.687
1.56 0.681
1.58 0.675
1.60 0.668
1.62 0.663
1.64 0.657
1.66 0.651
1.68 0.646
1.70 0.641
1.72 0.635
1.74 0.631
1.76 0.626
1.78 0.621
1.80 0.617
1.82 0.612
1.84 0.608
1.86 0.604
1.88 0.600
1.90 0.596
1.92 0.592
1.94 0.588
1.96 0.584
1.98 0.581
2.00 0.577

1.0471
1.0952
1.1442
1.1941
1.2450
1.2968
1.3495
1.4032
1.4578
1.5133
1.5698
1.6272
1.6855
1.7448
1.8050
1.8661
1.9282
1.9912
2.0551
2.1200
2.1858
2.2525
2.3202
2.3888
2.4583
2.5288
2.6002
2.6725
2.7458
2.8200
2.8951
2.9712
3.0482
3.1261
3.2050
3.2848
3.3655
3.4472
3.5298
3.6133
3.6978
3.7832
3.8695
3.9568
4.0450
4.1341
4.2242
4.3152
4.4071
4.5000

1.0132  1.0000
1.0263  0.9999
1.0393  0.9998
1.0522  0.99%4
1.0649  0.9989
1.0776  0.9982
1.0903  0.9973
1.1029  0.9961
1.1154  0.9946
1.1280  0.9928
1.1405  0.9907
1.1531  0.9884
1.1657  0.9857
1.1783  0.9827
1.1909  0.9794
1.2035  0.9758
1.2162 0.9718
1.2290  0.9676
1.2418  0.9630
1.2547  0.9582
1.2676  0.9531
1.2807  0.9476
1.2938  0.9420
1.3069  0.9360
1.3202  0.9298
1.3336  0.9233
1.3470  0.9166
1.3606  0.9097
1.3742  0.9026
1.3880  0.8952
1.4018  0.8877
1.4158  0.8799
1.4299  0.8720
1.4440  0.8639
1.4583  0.8557
1.4727  0.8474
1.4873  0.8389
1.5019  0.8302
1.5167  0.8215
1.5316  0.8127
1.5466  0.8038
1.5617  0.7948
1.5770  0.7857
1.5924  0.7765
1.6079  0.7674
1.6236  0.7581
1.6394  0.7488
1.6553  0.7395
1.6713  0.7302
1.6875  0.7209

M1 M2
2.02 0.574
2.04 0.571
2.06 0.567
2.08 0.564
2.10 0.561
2.12 0.558
2.14 0.555
2.16 0.553
2.18 0.550
2.20 0.547
2.22 0.544
2.24 0.542
2.26 0.539
2.28 0.537
2.30 0.534
2.32 0.532
2.34 0.530
2.36 0.527
2.38 0.525
2.40 0.523
2.42 0.521
2.44 0.519
2.46 0.517
2.48 0.515
2.50 0.513
2.52 0.511
2.54 0.509
2.56 0.507
2.58 0.506
2.60 0.504
2.62 0.502
2.64 0.500
2.66 0.499
2.68 0.497
2.70 0.496
2.72 0.494
2.74 0.493
2.76 0.491
2.78 0.490
2.80 0.488
2.82 0.487
2.84 0.485
2.86 0.484
2.88 0.483
2.90 0.481
2.92 0.480
2.94 0.479
2.96 0.478
2.98 0.476
3.00 0.475

oo leinll aniall

p2/p1 T2/T1 po2/Ppo1

4.5938 1.7038
4.6885 1.7203
4.7842 1.7369
4.8808 1.7536
4.9783 1.7704
5.0768 1.7875
5.1762 1.8046
5.2765 1.8219
5.3778 1.8393
5.4800 1.8569
5.5831 1.8746
5.6872 1.8924
5.7922 1.9104
5.8981 1.9285
6.0050 1.9468
6.1128 1.9652
6.2215 1.9838
6.3312 2.0025
6.4418 2.0213
6.5533 2.0403
6.6658 2.0595
6.7792 2.0788
6.8935 2.0982
7.0088 2.1178
7.1250 2.1375
7.2421 2.1574
7.3602 2.1774
7.4792 2.1976
7.5991 2.2179
7.7200 2.2383
7.8418 2.2590
7.9645 2.2797
8.0882 2.3006
8.2128 2.3217
8.3383 2.3429
8.4648 2.3642
8.5922 2.3858
8.7205 2.4074
8.8498 2.4292
8.9800 2.4512
9.1111 2.4733
9.2432 2.4955
9.3762 2.5179
9.5101 2.5405
9.6450 2.5632
9.7808 2.5861
9.9175 2.6091
10.0552 2.6322
10.1938 2.6555
10.3333 2.6790

M1 M2 p2/p1 T2/T1 pPoz2/Po1r

3.02 0.474 10.4738
3.04 0.473 10.6152
3.06 0.472 10.7575
3.08 0.471 10.9008
3.10 0.470 11.0450
3.12 0.468 11.1901
3.14 0.467 11.3362
3.16 0.466 11.4832
3.18 0.465 11.6311
3.20 0.464 11.7800
3.22 0.463 11.9298
3.24 0.462 12.0805
3.26 0.461 12.2322
3.28 0.461 12.3848
3.30 0.460 12.5383

2.7026
2.7264
2.7503
2.7744
2.7986
2.8230
2.8475
2.8722
2.8970
2.9220
2.9471
2.9724
2.9979
3.0234
3.0492
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0.3227
0.3172
0.3118
0.3065
0.3012
0.2960
0.2910
0.2860
0.2811
0.2762
0.2715
0.2668
0.2622
0.2577
0.2533

0.7115
0.7022
0.6928
0.6835
0.6742
0.6649
0.6557
0.6464
0.6373
0.6281
0.6191
0.6100
0.6011
0.5921
0.5833
0.5745
0.5658
0.5572
0.5486
0.5401
0.5317
0.5234
0.5152
0.5071
0.4990
0.4911
0.4832
0.4754
0.4677
0.4601
0.4526
0.4452
0.4379
0.4307
0.4236
0.4166
0.4097
0.4028
0.3961
0.3895
0.3829
0.3765
0.3701
0.3639
0.3577
0.3517
0.3457
0.3398
0.3340
0.3283

II



3.32 0.459 12.6928
3.34 0.458 12.8482
3.36 0.457 13.0045
3.38 0.456 13.1618
3.40 0.455 13.3200
3.42 0.454 13.4791
3.44 0.454 13.6392
3.46 0.453 13.8002
3.48 0.452 13.9621
3.50 0.451 14.1250
3.52 0.450 14.2888
3.54 0.450 14.4535
3.56 0.449 14.6192
3.58 0.448 14.7858
3.60 0.447 14.9533
3.62 0.447 15.1218
3.64 0.446 15.2912
3.66 0.445 15.4615
3.68 0.445 15.6328
3.70 0.444 15.8050
3.72 0.443 15.9781
3.74 0.443 16.1522
3.76 0.442 16.3272
3.78 0.441 16.5031
3.80 0.441 16.6800
3.82 0.440 16.8578
3.84 0.440 17.0365
3.86 0.439 17.2162
3.88 0.438 17.3968
3.90 0.438 17.5783
3.92 0.437 17.7608
3.94 0.437 17.9442
3.96 0.436 18.1285
3.98 0.436 18.3138
4.00 0.435 18.5000

3.0751
3.1011
3.1273
3.1537
3.1802
3.2069
3.2337
3.2607
3.2878
3.3150
3.3425
3.3701
3.3978
3.4257
3.4537
3.4819
3.5103
3.5388
3.5674
3.5962
3.6252
3.6543
3.6836
3.7130
3.7426
3.7723
3.8022
3.8323
3.8625
3.8928
3.9233
3.9540
3.9848
4.0158
4.0469
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0.2489
0.2446
0.2404
0.2363
0.2322
0.2282
0.2243
0.2205
0.2167
0.2129
0.2093
0.2057
0.2022
0.1987
0.1953
0.1920
0.1887
0.1855
0.1823
0.1792
0.1761
0.1731
0.1702
0.1673
0.1645
0.1617
0.1589
0.1563
0.1536
0.1510
0.1485
0.1460
0.1435
0.1411
0.1388



0.02
0.04
0.06
0.08
0.10
0.12
0.14
0.16
0.18
0.20
0.22
0.24
0.26
0.28
0.30
0.32
0.34
0.36
0.38
0.40
0.42
0.44
0.46
0.48
0.50
0.52
0.54
0.56
0.58
0.60
0.62
0.64
0.66
0.68
0.70
0.72
0.74
0.76
0.78
0.80
0.82
0.84
0.86
0.88
0.90
0.92
0.94
0.96
0.98
1.00

T/T*
1.1999
1.1996
1.1991
1.1985
1.1976
1.1966
1.1953
1.1939
1.1923
1.1905
1.1885
1.1863
1.1840
1.1815
1.1788
1.1759
1.1729
1.1697
1.1663
1.1628
1.1591
1.1553
1.1513
1.1471
1.1429
1.1384
1.1339
1.1292
1.1244
1.1194
1.1143
1.1091
1.1038
1.0984
1.0929
1.0873
1.0815
1.0757
1.0698
1.0638
1.0578
1.0516
1.0454
1.0391
1.0327
1.0263
1.0198
1.0132
1.0066
1.0000

p/pP* Po/po*

54.7701
27.3817
18.2509
13.6843
10.9435
9.1156
7.8093
6.8291
6.0662
5.4554
4.9554
4.5383
4.1851
3.8820
3.6191
3.3887
3.1853
3.0042
2.8420
2.6958
2.5634
2.4428
2.3326
2.2313
2.1381
2.0519
1.9719
1.8975
1.8282
1.7634
1.7026
1.6456
1.5919
1.5413
1.4935
1.4482
1.4054
1.3647
1.3261
1.2893
1.2542
1.2208
1.1889
1.1583
1.1291
1.1011
1.0743
1.0485
1.0238
1.0000
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28.9421
14.4815
9.6659
7.2616
5.8218
4.8643
4.1824
3.6727
3.2779
2.9635
2.7076
2.4956
2.3173
2.1656
2.0351
1.9219
1.8229
1.7358
1.6587
1.5901
1.5289
1.4740
1.4246
1.3801
1.3398
1.3034
1.2703
1.2403
1.2130
1.1882
1.1656
1.1451
1.1265
1.1097
1.0944
1.0806
1.0681
1.0570
1.0471
1.0382
1.0305
1.0237
1.0179
1.0129
1.0089
1.0056
1.0031
1.0014
1.0003
1.0000

SV ULl

(P*
1778.450
440.3522
193.0311
106.7182

66.9216

45.4080

32.5113

24.1978

18.5427

14.5333

11.5961

9.3865
7.6876
6.3572
5.2993
4.4467
3.7520
3.1801
2.7054
2.3085
1.9744
1.6915
1.4509
1.2453
1.0691
0.9174
0.7866
0.6736
0.5757
0.4908
0.4172
0.3533
0.2979
0.2498
0.2081
0.1721
0.1411
0.1145
0.0917
0.0723
0.0559
0.0423
0.0310
0.0218
0.0145
0.0089
0.0048
0.0021
0.0005
0.0000

III



8,12l Jliil go VUl

M To/To* T/T* p/p* po/po*

0.02
0.04
0.06
0.08
0.10
0.12
0.14
0.16
0.18
0.20
0.22
0.24
0.26
0.28
0.30
0.32
0.34
0.36
0.38
0.40
0.42
0.44
0.46
0.48
0.50
0.52
0.54
0.56
0.58
0.60
0.62
0.64
0.66
0.68
0.70
0.72
0.74
0.76
0.78
0.80
0.82
0.84
0.86
0.88
0.90
0.92
0.94
0.96
0.98
1.00

0.0019 0.0023 2.3987
0.0076 0.0092 2.3946
0.0171 0.0205 2.3880
0.0302 0.0362 2.3787
0.0468 0.0560 2.3669
0.0666 0.0797 2.3526
0.0895 0.1069 2.3359
0.1151 0.1374 2.3170
0.1432 0.1708 2.2959
0.1736 0.2066 2.2727
0.2057 0.2445 2.2477
0.2395 0.2841 2.2209
0.2745 0.3250 2.1925
0.3104 0.3667 2.1626
0.3469 0.4089 2.1314
0.3837 0.4512 2.0991
0.4206 0.4933 2.0657
0.4572 0.5348 2.0314
0.4935 0.5755 1.9964
0.5290 0.6151 1.9608
0.5638 0.6535 1.9247
0.5975 0.6903 1.8882
0.6301 0.7254 1.8515
0.6614 0.7587 1.8147
0.6914 0.7901 1.7778
0.7199 0.8196 1.7409
0.7470 0.8469 1.7043
0.7725 0.8723 1.6678
0.7965 0.8955 1.6316
0.8189 0.9167 1.5957
0.8398 0.9358 1.5603
0.8592 0.9530 1.5253
0.8771 0.9682 1.4908
0.8935 0.9814 1.4569
0.9085 0.9929 1.4235
0.9221 1.0026 1.3907
0.9344 1.0106 1.3585
0.9455 1.0171 1.3270
0.9553 1.0220 1.2961
0.9639 1.0255 1.2658
0.9715 1.0276 1.2362
0.9781 1.0285 1.2073
0.9836 1.0283 1.1791
0.9883 1.0269 1.1515
0.9921 1.0245 1.1246
0.9951 1.0212 1.0984
0.9973 1.0170 1.0728
0.9988 1.0121 1.0479
0.9997 1.0064 1.0236
1.0000 1.0000 1.0000
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1.2675
1.2665
1.2647
1.2623
1.2591
1.2554
1.2510
1.2461
1.2406
1.2346
1.2281
1.2213
1.2140
1.2064
1.1985
1.1904
1.1822
1.1737
1.1652
1.1566
1.1480
1.1394
1.1308
1.1224
1.1141
1.1059
1.0979
1.0901
1.0826
1.0753
1.0682
1.0615
1.0550
1.0489
1.0431
1.0376
1.0325
1.0278
1.0234
1.0193
1.0157
1.0124
1.0095
1.0070
1.0049
1.0031
1.0017
1.0008
1.0002
1.0000

IV
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&0l

Massey, B 1

Mechanics of Fluids

van Reinhold

Hughes, W, Brighton, J 2

Theory and Problems of Fluid Dynamics

Schaum

Rogers, Mayhew 3

Engineering Thermodynamics, Work and Heat Transfer

Longman

Langhoar, H 4

Dimensional Analysis and the Theory of Modeling

John Wiley

Goldstein, S 5

Modern Developments in Fluid Dynamics

Dover Publications

Schlichting, H 6

Boundary Layer Theory

McGraw-Hill

Anderson, J D, Computational Fluid Dynamics, McGraw-Hill 7

Hinze, J 8

Turbulence

McGraw-Hill

Glauert, H 9

Elements of Aerofoil and Airscrew Theory

Cambridge University Press

Streeter, V 10

Fluid Dynamics

McGraw-Hill

A. H. Shapiro 11

Dynamics and thermodynamics of compressible fluid flow. Vol.1, Parts I and

II

Ronald

Leipman, H, Roshko, A 12

Elements of Gas Dynamics

International Textbooks

Owczarek, ] 13

Fundamentals of Gas Dynamics

International Textbooks

Bolton,W 14

Engineering Instrumentation & control

Butterworths.

www.cfd-online.com/resources/ 15

g>1,0)l pB, oWl

1,2 1
1.2.3 2
4 3
1.5 4
1.2 5
1.2.14 6
1.2.3 7
6,7,15 8
8.6 9
9.6 10
1.11.12.13 11
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wl=xlbuoaoll p=x=0 9 U £9

(Sl - v,e)

aeuall Siul=uVl il w2l adbuaoll

230-108-49-23-19-10-9-6 | stress s>l

-108-105-104-87-49-36-10-6 | shear stress wuad slp=>]
230-185-111

108 | apparent turbulent S,alb S g0 slp>|

stress

107 | Reynolds stresses o) whlp>]

143-24-20-17-8 | one dimensional 2ol Sl

-160-143-121-115-42-40-37-36 | friction >
-196-195-193-190-189-185-174
230-229-227-216-200

98 | Finite volumes 8530 pls|

207125--93-8-7 | coordinate wsilas|

229-185-44-40-37-35 | roughness height &gzl glas)l

145-98-72 | displacement a>l;)

60-59-58 | stability Shsswl

185-125-124-113-104-87-18 | continuity &y, yoiwl

140-136-135-132-117-116-115 | cylinder &lolawl

-87-75-74-54-49-24-23-16-15 | momentum NIV
201-186-175-168-165-150-143

-109-106-102-94-73-30-29-13 | drag asle]
-119-118-116-115-112-111-110
229-120

120 | road drag bl asle|

229-119-116-111-110-109-106 | skin drag aul> adlel

119-116-115 | pressure drag oo adlc|

121-111 | turbulent drag &y, 90 Adlc|

44 | branched pipes acai0 wuwll

-73-72-64-63-44-37-36-25-24-8 | pipe gl
196-195-190-150

212-211-68-63 | pitot-static tube bheall gl

S =l

66 | Bourdon tube 93,91 woul

-228-207-204-200-152-89-20 | heat transfer 8,,> Jlasl
229

-151-150-146-143-90-88-32-7 | compressible wbleai|
222-211-200-189-185-159

66-10 | strain Jlessl

209-124-91-34-33-29 | model &S00l

140 | stall s

213-52 | barometer ,i09,U

141-140-123-96-95-91 | span el

104-102 | Prandtl Jil

131-115-63 | Bernouli gy

103-37-30-29 | dimensional Sasy

123-108-106 | Blasius oo\

71-66 | Bourdon 95,9

108 | Boussinesq suwyy

179-176-144-143 | entropy BVEW]

37-29 | dimensional analysis Sy Jud=s

232




230-140-139 | circulation 329X

95-91-11 | lubrication RNy

91 | hydrodynamic S, 85

lubrication

91 | Hydrostatic lubrication ugSow (a3

229-84-52-51-50-49-32 | acceleration golus

33 | similarity a, Lo

33 | dynamic similarity S,> vl

33 | physical similarity il aulas

33 | geometric similarity owid b

-144-132-99-98-90-87-18-15 | differential loles
204-200-185-173-165-152

98 | discretization 85

-174-155-154-105-87-74-17 | integral oS
203-190

71-45-40 | iterative SHILSS

141-59-55 | equilibrium U;lgs

-110-103-75-73-72-67-29-27 | current S
209-140-121-118-116

140-130-95-88-8-7 | three dimensional Aedl oM

130-124-103-95-91-50-7 | two dimensional A=l ol

141-140-139-121-119 | airfoil, aerofoil >

-85-84-75-66-52-51-44-40-10 | atmosphere o>
214-213-212-196-168

51-50 | container &ugl>

-75-74-54-49-24-23-19-17-15-9 | control volume pS=ll pzx>
185-174-168-152-150-87-84-80

107 | turbulence intensity Ho0J| da>

229-204-145-144-96 | specific heat aucy 8>

-177-165-160-153-111-107-9 | critical >
202-189

-101-100-91-74-68-63-33-19-10 | dynamic =S,
212-211-145-123-120-116-115

65 | sensitivity &>

167-166-165-139-113 | throat Bl

90 | convective ado>

78 | helicopter dolg>

98 | computational fluid &ilgoll awg>

dynamics

230-128-122-120-7 | streamline Ol b

159-73-64-39-7 | error [

230-124-108 | stream function Ol ,adl dls

230-128-125 | potential function weaSJl &l

75-74 | propeller el

139-82-79-78-76 | thrust, propulsion 9>

73-66-64-7 | accuracy ads

-137-135-125-124-79-78-73-72 | rotation ulygs
139

-202-189-179-176-167-165-147 | subsonic g0 U9
212-211-207

-90-80-36-29-24-20-17-11-7 | steady )
200-185-152-143-139-124-103

-140-139-138-137-124-36-21 | lift &9,
229-141

-177-174-161-154-136-135-63 | stagnation 39S,
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213-212-211-207-189-187

229-140-139-103 | angle of attack ozl &gl

229-149 | Mach angle Zlo @9l

-161-140-119-115-113-73-21 | downstream Jolw
196-195-183

-173-150-148-147-146-145-32 | speed of sound weall acyw
229-174

230-137-135 | tip-speed a9, ,hbl ac,ull

17-15-9-7 | flow Ol w

204-200 | Rayleigh flow osJdyy Ul w

185 | Fanno flow il Ul yw

134-102 | Potential flow UgeS Ul uw

100 | Couette flow <9gS Ul uw

-179-160-155-154-152-151-144 | Isentropic flow EVEW VU] PO
223-212

88-10 | non-Newtonian flow sugigV Ul w

136-126-7 | uniform flow phaiioe U W

105 | Newtonian flow 99390 UL w

91 | static SI9Sw

36-21 | head Caoow

21 | total head IS Caoow

207-195-165-161 | choked G

127-54-8 | radial welei]

209-168-152-120-85-84 | rocket Zo,lo

-212-180-179-177-174-173-143

normal shock

doleio Qoo

225

212-173 | obligue shock ailo dolro

212-115-113-76-73-21 | downstream o

-107-105-104-39-36-11-10-9 | laminar wiles
229-116-112-111-110-109-108

43 | valve plows

146 | sonic [N W)

80 | compressor hels

229-10-9-7-6 | pressure heo

214-213-212-85-66-52-44-10 | atmospheric pressure Se> heo

212-211-68-63 | dynamic pressure S > heo

195-165-161 | exit pressure w>9,%> heo

213-212-189-187-175-161-63 | stagnation pressure S>g5, o

10 [ vacuum pressure &9 heo

10 | absolute pressure alho bheo

66-10 | gage pressure sowlibo lhoo

196-195-179-165-161 | back pressure ulp oo

-44-43-42-40-36-23-19-16-15-6 | energy aslb
-121-116-115-113-76-69-66
-174-154-152-144-143-141-131
229-211-204-186

229-144 | internal energy adsl> adlb

-109-108-107-105-104-103-102 | boundary layer Q)la> asb

-121-120-116-115-113-111-110
230-229-152-122

111 | Combined boundary oxd &y)la> asb
layer
33 | prototype sl 5hb
98-95-90 | numerical methods aic 9,b
73-72-60-59-58-56-55-54 | buoyancy gab
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-104-103-102-91-71-32-30-9
-185-145-140-117-112-109-107

Reynolds number

Mo, sac

229

229-32 | Froude number 3939 >ac

-165-161-159-153-149-145-32 | Mach number Zlo sac
-202-193-189-186-180-179-175
229-207

117-58 | moment 02l

98 | finite elements 33120 yolic

152-80-72-20 | turbine dasic

-200-186-185-151-145-117-7 | perfect gas JolS ;e
201

209-168-80 | combustion chamber SVl as,e

88-27 | unsteady il e

10 | vacuum €9

98 | finite differences 331=0 99,9

121-116-115-114 | separation Jad

-115-107-69-43-42-40-39-35 | loss 89
229-196-141-121

42-40 | friction loss SIS 289

229-42 | local(minor) loss S\R0go A9

69 | venturi S Hgainid

73 | ultra sonic s2oow 999

-202-189-179-177-176-165-148 | supersonic g0 999
212-209

209 | hypersonic go b,d

108-105-104 | Von Karman o0,lS Ugd

220-70-69 | orifice angd

229-120-79-76-74-69-20-19-6 | power 3,9

143-109-102-24-10-9-6 | shear uad

125 | electrode wlnd

229-190-185 | hydraulic diameter by ,nd

185-174-150-143-98-15-6 | conservation laws ho=l oled

74-9 | body force Qo> dgd

74-23-9 | surface force Qo g8

229-159-89-19-18-17-15-7-6 | mass alis

169-144 | relative mass S aliS

-211-159-151-143-72-56-30-7 | density asts
230-214

229-56-13-7 | relative density Qs @9LS

185-174 | adiabatic pukS

230-209-83-82-76 | efficiency dclaS

7-6 | continuum aLaio @S

139 | Kutta - Joukowski SowdgSq) - LigS

26 | elbow £oS

39 | Colebrook-White culg — g ,JgS

-101-92-91-40-37-33-32-30-9 | dimensionless Sa)
-181-180-154-145-109-105-103
230-207-193-185

132-131-126-125-124 | irrotational b9V

-125-124-102-89-63-36-21-10 | inviscous, inviscid w3V
139-129

-91-90-89-68-49-36-24-20-18-7 | incompressible wbleni|V
159-143-131-129-128-103

-160-155-154-152-151-144-143 | isentropic SAVEW)Y
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223-212-183-182-179-173

195-165-161-113-100 | convergent Y

179-165-113 | convergent-divergent ilb-pd

-108-107-103-102-88-36-32-10 | viscous, viscid w5
152-129-125-115

230-145-10 | dynamic viscosity 4S,> a>9;)

108 | apparent viscosity a,alb axq;)

230-214-145-10 | kinematic viscosity alouisS a>9;)

-111-109-108-106-103-102-100 | plate o
140-118

229-116-111-109-107-29-9 | turbulent il

6 | fluid &l

15 | flux vector Ol | axsio

37 | PVC (Poly vinyl chloride) 2)9lS Sasio

Jgiasll

115 | symmetric Jilouio

-144-141-139-116-115-113-63 | ideal Jlo
173-152

-152-122-113-90-69-63-18-11 | duct S, >0
191

211-144-143 | enthalpy SHl> Sgixo

209-120-84-82-81 | jet engine le &y=o

96-94-93-91 | bearing Jo=xo

67-66 | transducer &lo=xo

66 | Pressure transducer hes alg=o

149 | Mach cone Zlo bg,xo

229-121-108-107-9 | turbulence )90

58 | metacenter el 58 0

58 | buoyancy center ool 5S 0

59 | couple 9350

101-13-11 | lubricant )0

6 | free path 3> lwio

195-161-159-28 | reservoir £ >giuio

127 | sink (Y

36-20 | pump LY

66 | Bourdon gauge 93,9 bleao

66-65-64-63 | manometer bilw bleao

215-10-7 | absolute o

Laplace equations oMY wVsleo

Navier-Stokes equations -390 wVsles

S 9w

Continuity equation &yl asleo

Darcy formula sowl> dsles

friction factor, ¢ ¢ JSixVl Joleo

friction factor, f f ISV Joloo

skin-drag coefficient alel Joleo

ay =l

total-drag coefficient aleVl Joleo

JsJl

lift coefficient &9,J Joloo

flow coefficient Ol !l Joloo

road factor bl Joleo

correction factor Suxai Joleo

volume flow rate Ul | Jaso
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mass flow rate Ol Jaso
sl

insulated Jgj20
constriction flow meters Ol pad| Guléo
paraboloid ESoll glraoll
hydrometer a8LsSJl ywliso
strain gage ool Gwlso
orifice meter D98 ywlibo
gage swlido
piston S0
gradient Jlowo
source &uio
uniform plaiio
system doglrio
nozzle Cadio
relative weighing &i> &jlgo
expansion waves &,5305 wl>go
wave a>g0
shock wave &o0l0 4>90
turbulence 190
diffuser, divergent il
specific-heat ratio &)=l auw
ducoill

tip-speed-ratio acudl anus
a9 bll

aspect ratio acl dws
metacentric radius sl wwas
SI units wwollel plaill
la>ql)

divergence theorem Aeludl &,k
buoyancy theory ool &,k
Buckingham theorem ploas, &,k
Froude theorem 3959 &,b
jet Cad
ramjet shelai e
scramjet 95 shelai )
Y99 Blu>V

sigall

crude oil o> e
stall point 5LVl adass
reference point Q>0 alass
modeling &> o0
chord 9
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W l=xllbuooldl o0 9 U 29
(wvae - Siulxil)

wv )l ool

Siuloo VI adloaaoll

ol

absolute

absolute pressure

e,Lus

acceleration

asds

accuracy

adiabatic

Cli>

airfoil, aerofoil

poxpll dyol;

angle of attack

S, S)90 slp>]

apparent turbulent stress

&, a>q;)

apparent viscosity

aspect ratio

9>

atmosphere

u§9>.1os'¢

atmospheric pressure

ilp beo

back pressure

209,

barometer

Joxo

bearing

Joiy

Bernouli

w9253

Blasius

Auon> 398

body force

Qo> asb

boundary layer

93,9/

Bourdon

9>)9J bleno

Bourdon gauge

9,97 ol

Bourdon tube

.il_u.LL.Hug.g

Boussinesq

branched pipes

Buckingham theorem

ples) a,bh
sab

buoyancy

gabll 55,0

buoyancy center

sekbll &)l

buoyancy theory

o)

choked

»9

chord

290

circulation

<wly — Jg,deS

Colebrook-White

oexd Q)la> dab

Combined boundary layer

IVl as,e

combustion chamber

bles]

compressible

hels

compressor

&lgoll dwg>

computational fluid dynamics

hoxll ,led

conservation laws

aalisll Ob,wdl Guwlio

constriction flow meters

ayol>

container

CU)' \f\.l'_qu

continuity

&, oVl @sles

Continuity equation

continuum

control volume

pS=ill px>
-

convective

> 25

convergent

Saib-0V

convergent-divergent

sila>]

coordinate

guxai Joloo

correction factor
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<995 VL)

Couette flow

29350

couple

zx>

critical

o5 bha

crude oil

W

current

&lglowl

cylinder

o\.leb asleo

Darcy formula

aslis

density

solas

differential

5ol

diffuser, divergent

Sy

dimensional

S Lol

dimensional analysis

dimensionless

SaY

discretization

a5l

displacement

sclil &by

divergence theorem

Jolw

downstream

o

downstream

aslc]

drag

S =0

duct

oSS »>

dynamic

sS,> heo

dynamic pressure

oS,> bl

dynamic similarity

aS,> d>9))

dynamic viscosity

delasS

efficiency

€55

elbow

b

electrode

b

energy

enthalpy

S)l> Sgixo
EVEW]

entropy

Ojlgs

equilibrium

Uns>

error

\_s\.>_9).'>.b§.b

exit pressure

505 wl>go

expansion waves

9L Vb yw

Fanno flow

8510 99,9

finite differences

333=0 olic

finite elements

4>1=0 pLx>|

Finite volumes

Ol

flow

bl Jolso

flow coefficient

&lo

fluid

flux vector

»> )buw

free path

S|

friction

0 JSi>VI Jolao

friction factor, ¢

f ISV Jolso

friction factor, f

3959 >ac

Froude number

5958 ay,h

Froude theorem

gage

gage pressure

L q__;|

geometric similarity

gradient

Jlow

(V. VY

head

3,l,> Jlawl

heat transfer
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éolg> | helicopter
wsol,w ;s | hydraulic diameter
S ,> éJ35 | hydrodynamic lubrication
asisJl ywliso | hydrometer
uoSw (835 | Hydrostatic lubrication
sJiwo | ideal
sbleailV | incompressible
Jgj=o | insulated
JolS5 | integral
aJ>I> aslb | internal energy
=>3JV | inviscous, inviscid
svl,95V | irrotational
SV | isentropic
S, | iterative
o | jet
wle o,=0 | jet engine
alousS a>93J) | kinematic viscosity
SowdgSq - UgS | Kutta - Joukowski
s=lao | laminar
uw MV wVsleo | Laplace equations
&9, | lift
&9,Jl Joleo | lift coefficient
289 | loss
&30 | lubricant
a4 | lubrication
Zlo @yol; | Mach angle
2o bg,%0 | Mach cone
2o sac | Mach number
lilw bleao | manometer
als | mass
iSJl Ol wdl Jase | mass flow rate
2= ll 55,0 | metacenter
s> Ul ,hall cens | metacentric radius
=090 189 | minor loss
2300l | model
4>.ios | modeling
w32l | moment
slas] [ momentum

usSgiw 190 wsleo

Navier-Stokes equations

V9w ULy

Newtonian flow

sgignV Ol yw

non-Newtonian flow

normal shock

doleio Ao

nozzle

aG>ac b,b

numerical methods

al5lo doio

oblique shock

2ol Sl

one dimensional

adgd

orifice

S99 ywlibo

orifice meter

8l glaioll

paraboloid

Jols le

perfect gas

wIbad ulis

physical similarity

vSJ.Ji

pipe

S

piston

oS =)l bl gl

pitot-static tube
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col

plate

UgaS UL yw

Potential flow

Ogas)l &l

potential function

power

Prandtl

Jely
heo

pressure

duhos &dlc|

pressure drag

Pressure transducer

gls

propeller

prototype

N VRIS

A0

pump

Joisall 1,0lS sasio

PVC (Poly vinyl chloride)

radial

ramjet

ooy Vbyw

Rayleigh flow

reference point

A 9LS

relative density

relative mass

&> &len

relative weighing

€ >9iun

reservoir

Hoi) sac

Reynolds number

oiy) wlslp>]

Reynolds stresses

sl el

road drag

bl Joloo

road factor

Zolo

rocket

UIJS)

rotation

gzl gl

roughness height

gl Bgd BLimsVl 95 waclay b

scramjet

sensitivity

Lad

separation

uad

shear

shear stress

shock wave

Slasel) ol pladl

SI units

Lo

similarity

a0

sink

ol alel

skin drag

aal=l @leyl Jolso

skin-drag coefficient

[N

sonic

&0

source

el

span

acgi 3, >

specific heat

acoll b=l @

specific-heat ratio

speed of sound

S8iwl

stability

395,

stagnation

5355, o

stagnation pressure

olp]

stall

stall point

LupVl adass

static

..)

steady

Jlea]

strain

strain gage

obudl als

stream function
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streamline

stress

subsonic

supersonic

surface force

symmetric

system

three dimensional

throat

thrust, propulsion

9>
a9,bll ac,wll

tip-speed

a9, bl ac | dws

tip-speed-ratio

total head

JSUl @l Jolso

total-drag coefficient

alg=o

transducer

q"-.:

turbine

turbulence

turbulence

turbulence intensity

turbulent

turbulent drag

two dimensional

ultra sonic

uniform

uniform flow

unsteady

vacuum

vacuum pressure

valve

venturi

>3

viscous, viscid

o=l 0Uaed] Joso

volume flow rate

0,5 LUgd

Von Karman

a>90

wave
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